CTET L1 Hindi L2 English P1

Topic:- CDP_P1_CTET

1) Developmentis

(1) A discontinuous process.
(2) A gradual and sequential process.
(3) Influenced by personal factors but not by environmental factors.

(4) Influenced by environmental factors but not by personal factors.

(EERL:]

(1) 7= sfaTeae afHaT g |
(2) U wiEE I g |
(3) =TT TR | TATIAT 2T 8 10 ATt 01 T 7 7al |
(4) ATATATORT FTEHT § TS ZHET g @i ST FEE J A570 |
[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_104_Q1]
1 [Option ID = 1]
2 [Option ID = 2]

3 [Option ID = 3]
4 [Option ID = 4]
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2) Which of the following is an environmental factor influencing development ?
(1) Genes
(2) Heredity
(3) Maturation
(4) School

=T 5 & Fr-a7 A= w5 w9riad FT9 qeT araraeiT ST g ?

(1) ey

(2) ArgATIrHAT
(3) TtoFaaT
(4) FE=rmerT

[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_104_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3) Which of the following is typically the first and foremost agent of socialisation of very young
children ?
(1) Mass Media
(2) Cultural Practices
(3) School
(4) Family

T Gle TG & oy 75T F & FI9-97 THTSHT0 F1 ITIHF T T4 928 g 2

(1) S HATT

(2) A=A g=aq
(3) A=
(4) afETe

[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_104_Q3]

1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4) According to Jean Piaget's theory of cognitive development, at which stage are reflexes

dominant and primary way of learning ?
(1) Sensorimotor

(2)
(3) Concrete Operational
(4) Formal Operational

Preoperational

stie TSy & dsrensn B fgia & e, e 37w 9= get=gs fmard
FTERTH =T THTH S AT+ JTerq 2l 2 2

OEEERIEED

(2) 97 HTFHATHF

(3) TA-ATHATHF

(4) dro=TTF FiEgTeHT

[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_104_Q4]
1 [Option ID = 13]
2 [Option ID = 14]
3 [Option ID = 15]
. 4 [Option ID = 16]

A wN =



5) According to Jean Piaget, the process of changing the existing schemas to make sense of new
information is called :

(1) Centration

)
(2) Accommodation
3) Disequilibration
)

(
(4) Perception

SR fHATST % AT, qE FOAREL S THF AT (0 AT ShiAT § a=enT
FT FTHIT FAT Fgardl g ?
(1) FErET
(2) FHTETST
(3) AR 0T
(4) Ha=
[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_104_Q5]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]

3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6) The concept of ‘Zone of Proximal development’ has been proposed by

(1) Jerome Bruner
(2) B.F. Skinner

(3) Lev Vygotsky
(4) Howard Gardner

‘THTaE T &7 8 9vey T § O G yfaar=a fErar 2
(1) Fordr 7=
(2) Fr.uF. FwaT
(3) T AT
(4) < AT
[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_104_Q6]
1 [Option ID = 21]
2 [Option ID = 22]

3 [Option ID = 23]
4 [Option ID = 24]

A w N =

7) Lev Vygotsky conceptualised development as the transformation of into

(1) schemas, concepts
(2) socially shared activities, internalised processes
(3) reflexes, schemas

(4) individual activities, external processes



o g F FEm #° T T g & T H 1iG
g

(1) =hreT, FgerT

(2) ATHTTS ¥ 9 T AT TAITal, Aqusia TiHarar
(3) seiT=g® e, =har

(4) =tamre rara &, sy gt

[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_104_Q7]
1 [Option ID = 25]
2 [Option ID = 26]
3 [Option ID = 27]
. 4 [Option ID = 28]
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8) Lawrence Kohlberg proposed a sequence of stages of moral reasoning among

children and adults.
(1)4

(2)6
(3)8
(4) 10

CHEE: q—,l-;iqqﬁﬁﬁ'aﬁzf v Tt o AfaF 7% 1 =T w79 g CRUli|
T T 5T oT |

(1)4

(2)6

(3)8

(4) 10
[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_104_Q8]
. 1 [Option ID = 29]

. 2 [Option ID = 30]

1
2
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9) As per constructivist approach which of the following should not be promoted among students
?

(1) Problem solving
(2) Guided discavering
(3) Associative inferring
(4) Rote memorising



HTAATATRT SUNH % A9, 5 § 7 F19-9 92 =7 =2ty § agf, a0
TR 2

(1) THEIT HHTET

(2) T=forT arer

(3) FEAT AT

(4) F3F T

[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_104_Q9]
1 [Option ID = 33]
2 [Option ID = 34]
. 3 [Option ID = 35]
. 4 [Option ID = 36]

A wWw N =

10) Which of the following is correct in context of Intelligence Quotient (IQ) tests ?

(1) They measure intelligence in a very comprehensive manner.
(2) There is a certain error of measurement in IQ tests.
(3) 1Q tests are free from any kind of cultural bias.

(4) 1Q tests are always highly reliable.

fE @i (1Q) et ¥ wad & freafafis § F wiv-ar Fa7 a5 £ 2

(1) T Igd =TT T 7 g FATIA 3 |

(2) Ttz A= T & 7o it vE AEEg v A AT T |

(3) afz @feer wdteror FReft oY ot % Ariegfas [AwE ¥ g 2 |
(4) iz At e 9T AT+ fAeaa«ia gia 2 |

[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_104_Q10]

1 [Option ID = 37]

2 [Option ID = 38]

3 [Option ID = 39]
4 [Option ID = 40]

AN wnN =

11) Theoriests differ in their conceptualisation of relation between language and thought.
While Jean Piaget believes influences , Lev Vygotsky suggests that
directs
(1) cognition, language; language, thought
(2) language, cogntion; thought, language
(3) environment, language; heredity, thought
(4) thought, heredity; language, environment



frgTeaaTar arar & B=1T F vy J9w 7 AT T q9T & A H G Es
TEAE |

Saf® S fogrsr 1 9mar g & ; T TATET FLAT g, @9
AT FT AT g , F1 =i Hear/Fn g |

(1) &=, graT; 9T, A=

(2) |TaT, AT A=, 9w

(3) ATATAZOT, ATHT; ATAA 4T, FA=T

(4) =T, ArETErEaT; 9T, ATaTEr
[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_104_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) Over representation of males over females in textbooks is an example of :
(1) Gender bias
(2) Gender equity
(3) Gender equality
(4) Gender neutrality

TIETETRT § Afgendr 1 qaAr ® qEr #oAtaw qiEHiaer e e
I § ?

(1) =7 TaE
(2) SiET JH4T
(3) ST HATAAT
(4) ST THogeraT

[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_104_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) A teacher should

(1) consider students’ pace of learning while teaching
(2) ignore students’ pace of learning while teaching
(3) consider pace of best performing students only

(4) ignore individual differences in students’ pace of learning



e forer/forteenT #r

(1) 92T & F0e gt & #9997 L3 397 J1e |

(2) 7= & F =TIt & ' i I w7 AFeaT 7 S4qT7 Ae |

(3) Faet A= FouTE & ATer Ta=mdt it 9fq uT &27 397 =1 |

(4) FE=nfoe & diae $ir e o =atEFTa fa=raret 1 aasdr w1 J1iau |
[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_104_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]

3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) In order to utilise assessment for the purpose of learning a teacher should

(1) Conduct exams at the end of session.
(2) Use standardised tests only.
(3) Do assessment on the basis of child’s involvement with on-going activity.

(4) Make half-yearly exams compulsory for all.

e & I297 gq ATFAT HT ITINT Fed & T, U forerw Fr gy g

(1) == F & | TL0AT 7 ATATST Fi7 |
(2) FAT AT T T ITAMT L |
(3) F-TEr AT F == it AU % AT TT AFaT 77 |
(4) =+t 7 form wrdanfis Tan affar #2)
[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_104_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]

3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) Which of the following is likely to hinder critical thinking among students 7

(1) Promoting use of analogies
(2) Asking open-ended questions
(3) Giving reflection time

(4) Encouraging rote memorisation

eafarfe & o fes gro Fentda § aae=ares FHaa § aran g2+ $i
HATEAAT g ?

(1) FT=THT F TINT T F@TET I T

(2) FoT AT AT T9F TG °

(3) e =aw F form 97 y=1 F74 7

(4) TEHT TS FTA (FEEATHTT) FT AT Feed o



[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_104_Q15]
1 [Option ID = 57]
2 [Option ID = 58]
. 3 [Option ID = 59]
4 [Option ID = 60]

A W N -

16) For successful inclusion of students belonging to low socio-economic groups, it is important to

(1) teach using standardised curriculum
(2) ignore their socio-cultural context
(3) promote a school culture conducive to developing sense of belonging

(4) practice only those traditions which are prevalent in dominant cultures

e |- J9g 7 JEe @ ara @i F awd AT 2
FIA-ET T AZTAT T 2
(1) ARG TTAI=4T 5T {97877
(2) ITF ATHIST AR aH TIEaLT i ATET FTAT
(3) FTEEATRAT F FTE FT [EH F2AT ATAT TS=Arera 1 Fepia 1 A= FLAT
(4) AT THAATST HEpTal 5 A ferd AT 7 AT g FoAT
[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_104_Q16]
1 [Option ID = 61]
2 [Option ID = 62]

3 [Option ID = 63]
4 [Option ID = 64]

A wnN =

17) Inserting an incorrect word, substituting and skipping words randomly, mixing up the order of
words in sentences are explicit signs of
(1
(2
3
4

Learning disability
Autism
Attention deficit hyperactivity disorder

——
T s et e

Hearing impairment

AT 9157 FISHT, 9T5A1 Tl AT THT BT F TIAAT AT G AT, ATFI| H 531 %
FH HT ZTUL-ZYT HL 347, Tg AT FFFF T2 HHha g ?
VEIELEEFEG]
(2) FeAt=aT (AT )
(3) SIHTHTE UH HiaEtwmaaT A% (ADHD)
(4) =T FIfeET
[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_104_Q17]
. 1 [Option ID = 65]
. 2 [Option ID = 66]

1
2

3. 3 [Option ID = 67]
4. 4 [Option ID = 68]



18) For successful inclusion of students with visual impairment, which of the following becomes a

barrier ?

(1) Electronically formatted lecture notes
(2) Audiotaped lectures

3) Tactile models of graphic materials

)

(
(4) Written descriptions and diagrams

ZeaTiaa A=nftdat & auraas F1 9% "9 * o, F=tofEd § 7 S9-91
FIE U qTEF I HHAT g 2

(1) TA=its =7 ¥ Afgsiug =qreaE Fofirt (772)

(2) Pt & T =T =T

(3) =TeTs AHRET & T FiaaT (FiEe)

(4) Trfera FEe o sana

[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_104_Q18]
1. 1 [Option ID = 69]

2. 2 [Option ID = 70]

3. 3 [Option ID = 71]

4. 4 [Option ID = 72]

19) Students with Autism typically demonstrate :

(1) excellent verbal communication skills
(2) hyperactivity
(3) repetitive behaviour

(4) urge for social interactions

FAATAT e (=t =i9es = | B 2EgiE F 9599 799 2 2

(1) ST T T AT

(2) srtataamstierar

(3) TATEHAT A=/ EIE

(4) |TETSTR ddtnATar F o e

[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_104_Q19]

1
2
3.
4

. 1 [Option ID = 73]
. 2 [Option ID = 74]
3 [Option ID = 75]
. 4 [Option ID = 76]

20) Which of the following is correct about students who are gifted ?

(1) They learn with high efforts.

(2) They take much longer to perceive information.
(3) They have above-average ability.

(4) They lack creativity and originality in ideas.



FTTATITAT H=TTaaT 3 a1 § FeAfertad § 7 hiA-A7 921 2 ?

(1) T Aeater= JaTHT g1e7 JEd ¢ |
(2) T ST T AHHT H ATIH 9T 9d 2 |
(3) THH HHa-T-AT8F AT 21471 2 |

(4) 37 =TT | T=EATeHEar AT Hifersar fit FHT 2T 2

[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_104_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) Assertion (A) .
A teacher should dominantly use lecture method to teach students in primary grades.
Reason (R) :
Learning is most effective when done through passive listening.
Choose the correct option :

(1) Both {A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

FFFIT (A) :
TTATHF FATAT H FA=TTIAT 1 921 % T foraes &1 997 =7 9 =AT:019 750
T TN FZAT AT |
T (R) :
Hwae T wiaT T SATET 99 79Tt grar g 5 ag AitET amr F ey g
1 ST 2 |
(1) (A) T (R) FTT 52T § AT (R), (A) it ST =021 FH7aT g
(2) (A) T (R) Tt 72T g @i (R), (A) 3T @5l =T 721 §
(3) (A) Fiet & A (R) T &
(4) (A) 9T (R) FTHT 9
[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_104_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]




22) Brainis of learning from real world contexts, hence schools should emphasise upon
learning.

(1) capable, constructive

3) capable, textbook based

)
(2) incapable, discovery
(3)
(4) incapable, decontextulised

AT AT % HIEr F @ F oo qftaen &, eoforT et £
ATENTH 9% 91 FAT ATRY |

(1) 75w, THATHE

(2) FATEAT, AT

() TEAH, TETEAF-SATATA
(4) FHew, IT-HEHT

[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_104_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Constructivism advocates

(1) Production of new knowledge by learners
(2) Rejection of new knowledge by teachers
(3) Reproduction of knowledge already gained

(4) Display of knowledge through rote memorisation

THATETE BT THI FATE ?

(1) ferenfa=i g 70 19 F g9 F

(2) forea=nt g1eT AU 1 HT ACEAHIT

(3) Tger | AT AT o TAFCATEA T

(4) 7= 7T TR T S A=A A
[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_104_Q23]
1 [Option ID = 89]
2 [Option ID = 90]

3 [Option ID = 91]
4 [Option ID = 92]

A w N =

24) Providing multiple means of is important to include all learners in class.
(1) engagement
(2) competition
(3) discrimination

(4) non-comprehension



FAT § AT ot =1 erfie w9 & oo EIEE R I ED]
FTAT AT ¢ |

(1) AT (TR F9) F

(2) FTaeTdT %

(3) 9=-9TA FA &

(4) FETETIAT F

[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_104_Q24]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) The strategy of dividing the problem into a number of intermediate subgoals and then figuring
out means for solving each intermediate subgoal is referred to as :

(1
(2
(3
(4

verbalisation
analogical thinking

means-ends analysis

e =

functional fixedness

T HHET A1 Fr geAad) sT-aedr |4 At = A g & e aww
HEATAT IT-%T FT g Hedd % HTET H1 TAT FIATHT FAT Fgearadl g ?

(1) ST

(2) AT=ITeHF T

(3) HTEA-HT fAeeraor

(4) FTATHT BITaT (Fgam)

[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_104_Q25]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26) Assertion (A) .

A teacher should explore the students’ 'naive’ theories about concepts to be taught and build
the lesson upon them.

Reason (R) :

Students’ ‘naive’ theories are a kind of alternative conception and are valuable for advanced
learning.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) Both (A) and (R) are false



HTaFIT (A) :
FEATTHRT T TZTE ST ATAT AALTEONSA % a7 o F=hdai 5 9gs (7A129)
Tl F F1¢ | FAAT F1g0 S IHT AT T 915 q6T @ A1 |

T (R) :

A=t & Hgs ME U 9 i Awies AAE gl 8, dT AN F
SATERTH F Fgd AIAA 7@l g |

et faseT 79 -

(1) (A) 97 (R) 31T 2T 2 3T (R), (A) T 987 =T F9ar g
(2) (A) i< (R) TT 7121 £ @ (R), (A) 7 781 = a8t §
(3) (A) 7T & A (R) T §
(4) (A) 37 (R) =971 T %I

[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_104_Q26]

1. 1 [Option ID = 101]

2. 2 [Option ID = 102]

3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Assertion (A):
Schools should promote pedagogies which don't emphasize on mere reproduction of materials
learnt.
Reason (R) :
Emotions and cognition are independent of each other.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

FEFIT (A) :

=Tt &7 U forsAvreTS T TIATAAT 1 qgrAT 97 A0 S FAd A@Er T
AT & TASATET T JE T3 |

T (R) :

Hew 3T §9W UF AT TIF 2 |

Hel fAFeT 9

(1) (A) 9T (R) 141 @€t 2 &7 (R), (A) Ff 72T =ATAT FeA1

(2) (A) &= (R) ITT &L € i (R), (A) HT HLT =0T24T 781 €

(3) (A) BT € @ (R) T &

(4) (A) AT (R) =TT T &



[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_104_Q27]
1 [Option ID = 105]
2 [Option ID = 106]
3 [Option ID = 107]
4 [Option ID = 108]

A W N -

28) Which of the following is an example of intrinsic motivation ?

(1) Studying to win a cash prize.
(2) Performing 2 dance to get praise of peers.
(3) Participating in a race to come first.

(4) Doing research on a topic out of curiosity.

freforfaa g & Fie-a7 diafn AT &7 0% IIEI0 g ?

(1) 7 T ofta & e wgre w9 |
(2) S AT AT F9ET U1 F o0 T2 7 WZ9T FAT |
(3) T = T7 A % TorT Zrg aiaari=aT § 967 o497 |
(4) Forsmaraer Bt fEer o= e AT |

[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_104_Q28]

1. 1 [Option ID = 109]

2. 2 [Option ID = 110]

3. 3 [Option ID = 111]

4. 4 [Option ID = 112]

29) Learning gets influenced by :
(i} classroom environment
(i) availability of resources
(i) pedagogy of teacher

(iv) readiness level of students

1) (i) only

2) (i), (ii) only

3) (i), (ii), (iii) only

4) (i), (ii), (iii) and (iv)

(
(
(
(



eaforfes 5 T F9-8 Frew Jia it T 1 79rag 799§ ?
(i) =T =T g

(i) HHTEAT HT IITAT

(iii)  Torer= ¥ foreqorom=hiar =Tt

(iv) TE=mfiaT & aeaar #1 =7

(1) 5= (i)

(2) A (i), (ii)

(3) F&= (i), (ii), (iii)

(4) (i), (i), (iii) & (iv)

[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_104_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) A conducive teaching-learning environment requires :

(1) maximization of threats
(2) minimization of distractions
(3) ignorance of individual differences

(4) rigid pedagogical practices

e A TOAUT-SATENTH =remareor = fer fehea=hi smere=rehiar g ?

(1) SAfa=-F-a e SraT

(2) AFU (FTATT) FT =AaH g1

(3) =TT TATH=TaTal =T TAC-HTTS FTAT
(4) ST (IT-TTATedr) SrerforeR AT

[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_104_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_CTET

1) In Roman numerals,
(XL + LX = LXXIV) is equal to



TTH et o,
(XL + LX = LXXIV) 3197 2

(1) CXXVI
(2) XXVI
(3) XXXIV
(4) LIV

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) (0.04 x0.35+=7 % 5) isequal to

(1) 0.01
(2) 0.001
(3) 0.0004
(4) 0.00004

(0.04 x 035+ 7 x 5) TT=T 2

(1) 0.01
(2) 0.001
(3) 0.0004
(4) 0.00004

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) From the following options, identify a number which is divisible by 3 and 4 but not divisible by
2

(1)588
(2)612
(3) 806
(4)810



freferfaT Bweat § 9, ag e 9garae, St 3 aan 4 T faaeTr g, v g 9 F
framsT 77 |
(1) 588
(2)612
(3) 806
(4) 810
[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]

3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) What should be subtracted from (186 + 215 + 46 — 170) to get 188 ?
(1)89
(2)99
(3)129
(4) 165

188 9o F7A =& 1T, (186 + 215 + 46 — 170) H F FAT T2TAT AT ?

(1) 89
(2) 99

(3) 129

(4) 165

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q34]
1. 1 [Option ID = 133]

2. 2 [Option ID = 134]

3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

1
°) Anu had 8 packets of 36 toffees each to distribute on her birthday. She distributed 2 of the

toffees among her friends and % among her teachers. She kept % of the toffees for her
brother. How many toffees are left with her now ?

(M1

(2)12

(3)23

(4)24



A F I YA SeHfad 9T qleq F oo 36 =it arar 8 e o | 39 airhat

- = = 3 = o ] = a =
T TFH-ATATS AT ATAT Hford i § q97 5 AR F0 forersi F =fer | Ia+ it
FT TF-TAgTs AT A9+ AT 6 o7 78 04T | I 39 19 (hawt 2(0Ra1 a1 ?

(M1

(2)12
(3) 23
(4) 24

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6) | am a 5 digit number with all different digits. | am divisible by 2 but not by 4. Digit at my tens
place is the smallest prime number. Digits at hundreds and thousands places are the second
odd number and the third prime number respectively. Digit at ten thousands place is double of

the digit at tens place. Whoam|[ ?

(1) 25310
(2) 26314
(3)45326
(4) 46320

T o e o

q 5 @isht it U H@eAr g, o ol o gom-ae T g | § 2 F faerey g, uieg 4
o TSl | T 3T W TATT A SF GE9 Gl S9TeT JET ¢ | #FE 997 g9 &
FATAT % & FHM: T AT T qA7 1L AATST {1 2 | 9 g F T
FAF IR F AT FAFFIATE | FFAE?

(1) 25310

(2) 26314

(3) 45326

(4) 46320

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) What is the measure of the angle formed by the hands of a clock at 3:30 o'clock ?
(1)45°
(2)60°
(3)75°
(4)80°



3:30 F5T TET AT AT & A1 T F07 1 HTT FAT ZHT 2
(1)45°
(2) 60°
(3)75°
(4) 80°
[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q37]
1 [Option ID = 145]
2 [Option ID = 146]

3 [Option ID = 147]
. 4 [Option ID = 148]

A WN =

8) Select the correct statement :

(1) Length of diameter is half that of the radius of the circle.
(2) Every chord is a diameter of the circle.
(3) Many radii can be drawn in a circle.

(4) Circumference of a circle is three times its diameter.

Aol T AT

(1) 7 T =T I A it T w7 oagr gan g |

(2) 9= STTaT g1 =T 4T glal g |

(3) 7T | A= FFroamd == S qFAT 2 |

(4) F=r &t aTefer I9 =27 &7 19 AT 30 2 |
[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q38]
1 [Option ID = 149]
2 [Option ID = 150]

3 [Option ID = 151]
4 [Option ID = 152]

A W N -

9) Which of the following cannot be the sides of a triangle ?

(1)3cm,4cm,5cm
(2)6 em, 6 cm, 6 cm
(3)7em, 7 cm, 15 cm
(4)12em, 15 cm, 7 cm

Freforfer § & wiv-oft el Braer v sqormtt At dr ot 2 2

(1)3cm,4cm, 5cm
(2)6 cm, 6 cm, 6 cm
(3)7cm, 7cm, 15 cm
(4)12cm, 15 cm, 7 cm

[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q39]



1 [Option ID = 153]
2 [Option ID = 154]
3 [Option ID = 155]
4 [Option ID = 156]

A W N -

10) Height of Aashu is 5 feet 5 cm and height of her friend Neetu is 4 feet 20 cm. How much taller
(in cm) is Aashu than Neetu ? (Use 1 foot = 30 cm)

AT 5 T2 5 om TET g TAT TAHT AgAT 71q 4 FE 20 cm T=T g | A9 A 7
et =i (em # ) 2 ? (1 T2 = 30 cm =T I Hfsm)
(1)10
(2) 12
(3) 14
(4) 15
[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]

3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

") Theareaofa rectangle is 252 em”. If its length is 18 cm, then what is its perimeter (in cm) ?

TF ATAT FT EART 252 om” £ | A T TS 18 om &, AT THET afATT
(cm ® ) =T ZAIT 2
(1)62
(2) 68
(3) 64
(4) 66
[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]

3. 3 [Option ID = 163]
4. 4 [Option ID = 164]



12) The length, breadth and height of a cuboidal tin box are 32 cm, 20 cm and 25 cm respectively.
It contains oil up to the height of 18 em. How much more il (in cm3) can be poured in the tin
box ?

(1) 4280

(2) 4440

(3) 4480

(4) 4840

TUF FATATHT 217 & (Sed Hi @ aTs, AIETe a7 FATs wHer: 32 cm, 20 cm T4T

25 cm 2 | TAH 18 cm FHATE 9% a9 991 ¢ | 39 &9 & foaa ¥ &lie fgar 9o

(cm’ &) T ST FFAT £ ?

(1) 4280
(2) 4440
(3) 4480
(4) 4840

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) What comes next in the following pattern ?
4. 83 - -

k]

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



14) The marks scored in an examination by Divya in 5 subjects, when shown in a pie chart, make
central angles as follows :

Hindi 84°
English 60°
Mathematics 63°
Science -7 i
Social Science 96°

if she obtained 105 marks in Mathematics, then what is the total of marks obtained by her in
these 5 subjects 7

(1) 580
(2)600
(3)650
(4) 720

Bt oher ¥, i By § f=m F arai #7 vF U 912 ¥ 290y 97 8
Frald HIT 2 THE T

=t 84°
Sireft 60°
v 63°
EELR 57°

GICNSEREEIGE 96°

7fT 37 ot # 105 &% fHer &, a1 =7 9= Auai § 9+ g0 U FA dF
a2 ?

(1) 580

(2) 600

(3) 650

(4) 720

[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]



15) Select the correct statement on the basis of data given below :

Fruits Liked by number of children
Orange 24
Banana 32
Mango 16
Apple 28

(1) Mangoes are most liked by children.

(2) Children liking oranges are one-third of the total children.

(3) Children liking either orange or banana are two times the children liking apples.
(4) Children liking apples are half of the total children.

Hr= 50 M7 AERST F AT U "gl A A0

FoT HoT I THT FIA AT dgGl
#T T

vl 24

HAT 32

IR 16

G 28

(1) & AT =9 A T9= F449 ¢ |
(2) FFET TERR FIA AT T=F T A=A 1 il GedT 7 UH-98T% ¢ |
(3) FFALT AT AT TR el AT A= T THvR Hlel AT A=A1 %00 TCAT % F
2
(4) T TS FIA AT T=d TA T=A1 il GAT 6 AT 2 |
[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]

3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET

1) Which among the following is/are true about mathematical games ?
A. Mathematical games are like open-ended play.

B. Mathematical games are governed by a set of rules and have a clear
underlying structure.

C. Mathematical games have specific mathematical cognitive objectives.
Choose the correct option :
(HAandB
(2)Aand C
(3)Only C
(4)Band C



T Fet & At § Feafates § 7 F9-8 707 28 ?

A. TOTET A A =t v gt © 79 2 |

B. o &er fRaH1 % F==7 g1 §=1q 2l § &% S99 T
BT HLAAT ZIal 2 |

C. T =efi F ATz v o AT 329 28 ¢ |

el fAFeT F1 =777 FST

(1)A B
(AT C
(3) %A C
4)B T C

[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

2) Thefirst step in problem-solving method is to

(1) Test the hypothesis
(2) Define the problem
(3) Formulate hypothesis
(4) Identify the problem

H’H@T—WWWWW@W%

(1) afwoaHT it i
(2) FH=T =T OfeETiu AT
(3) Tt faev

(4) FHEAT FT TgATH

[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]




3) Which among the following activities is/are appropriate to introduce the concept of
measurement of length to primary grade students.
A. Use children’s hand span to measure length of different objects.
B. Use of metre scale to measure length of different objects.
C. Use pencils, pens, etc to measure the length of different objects.
Choose the correct option :

(1)A and B
(2)Aand C
(3)BandC
(4)Only B
TTafE wY % Fenti S @9t e f1 aEgroT w1 9= e F o
=t F & f-g78 e ST 22 ?

A. T Jeqal #1 dare qw % o a==1 % ATfered FT STIRT H7AT |

B. A= a=qal &t @ars "9 & o1y 7% 12 Ther FT SUA R FHTAT |

C. At aegar £ ware Amm F oy 9w, T, zots 1 SwnT AT
el fAFeT 1 337 e

(1)A & B
(AT C
(3)B T C

(4) %A B
[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]
4) Following phrases represent various strategies for which of the following single digit whole
number operations ?
Count all, count on or make a ten
(1) Addition
(2) Multiplication
(3) Division
(4) Subtraction



et u=ay, F9-A7 UF 9% A0 07 AT U7 U G0AT A1 AT A
‘T T T, T ST a1 5 ST
(1) ST/

(2) T
(3) |mT
(4) =TFFA/TET

[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q49]

1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

5) A primary grade mathematics teacher develops the concept of numbers and numbers sense
with the help of sets of familiar objects such as 2 pens, 3 fruit, 5 boys, 7 girls etc. By
introducing the number as a description of a set of objects the teacher has focussed on

(1) Ordinal aspects of numbers.
(2) Cardinal aspects of numbers.
(3) Nominal aspects of numbers.
(4) Natural aspects of numbers.

AT ¥ F A0 H U fAiRrT denrat ud dendt F avg f AT9 w5
faTe 2 91, 3 Fell, 5 AEHI, 7 ASTHAT TeATR AT el F TH==41 i
HEAAT § FTAr g | aeqaA/[@=(0 F Fq==9 % =7 § AT F =29 F09 g0
forfershT & 2 e FFar 2

(1) FEATAT & FATAE e 17 |
(2) HEATAT = T gL T7 |
(3) FEATST F A T TV |
(4) TEATAT & YTHid+ 98¢ 97 |

[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]



6) While counting the number of objects in a set, a child counts few objects twice. Which
pre-number concept needs to be strengthened in the child ?

(1) One to one correspondence
(2)
(3) Hierchichal Inclusion
(4) Identification

Classification

TUF =37 § Feqal #1 GedT qd G807, U T=497 T Jeqa o1 al 917 {aar1 g
| =9 H FH-AT AEAT-TF HF0qAT Tl G5 Fe 1 AFIAFHAT 2 ?

(1) TE=hT FTT

(2) FfreemT

(3) TRTLA AT THTTIT

(4) TE=T/ATH TR

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q51]

1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3.

4. 4 [Option ID = 204]

3 [Option ID = 203]

7) A class lil student solves a subtraction problem as

101
-93

092

As a mathematics teacher how will you support the student to rectify the error in most
appropriate manner ?

(1) Ask the student to see the answer of other students and correct the mistake.

(2) Solve the problem on the blackboard and direct the student to observe the algorithm used
carefully.

(3) Give at least 10 similar types of problems to practice.

(4) Ask the student to count backwards after representing 101 and 93 on a number line before
teaching formal algorithm.



HEAT |1l =T U T==meft wer= 1 997 27 T g AT 2

101
-93

092

T T U T g F A aAed STLA adid | AT Al F g & o
A=t =1 e B e w2

(1) F=redt =1 T F=ntEaT 1 S5 79 T q0H7 e G F o0 Fg |
(2) PATHIE IT T AT g Aoy A Fmedt w wqE e At 1 s
FA A Fe & fory Fig |
(3) FH-T-F7 10 THIT THIT & T AT & Tore Z1o71 |
(4) =TT Fo B w7 fordr w2 & ager, "5t @ 97 101 #i© 93 Fer
7 Ta=reft 1 7o=RHT {9 # o F30
[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]

3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

8) Which of the following is the most appropriate reason for conducting formative assessment
tasks in mathematics classrooms ?

(1) It helps the teachers to identify gifted learners in the classroom.

(2) Formative assessment tasks help teachers to design timely interventions in case of
difficulties faced by children.

(3) Formative assessment tasks are used for labelling of learners.
(4) Formative assessments help build competitive environment in the classroom for the
betterment of mathematical learning.

T T FAT T T=HATHT AFAT FA g Aad § F FIF-A1 T3 TGFiad

SULFT ¢ ?

(1) F&T | FLTAT ATETHHRATH 61 Tga T F7 F 190/ farterst £ 755 Fea1 2
|

(2) T=HATeHT AR, FHT Td (ErR/frteeRT T agT v T A oA
T ATSAT F919 § A3 F44dT g |

(3) THATHT ATHAT, ATATHFATA & ATHLIT H AZAF ¢ |

(4) THATHF AFHAT FAT H 0T ATERTH F G G TTaeTe oq= Aramaor
e e § 72T FEAT 2 |

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]




9) As per National Curriculum Framework 2005, Position paper on Mathematics, appreciating the
richness of ‘folk algorithms’ during classroom process will not help in developing

(1) Cultural Values.

3) Child's perception of Mathematics.

)
(2) Formal Algorithm.
(3)
(4) Child's analytical skill.

TS qIBT=AT TIET 2005 F A0 ¥ AT U F AATE, FeATHr ghwarer F
T e (AT T AT 5 FqorgAr, S B § agemar g7 ot a2

e

(1) Tl g

(2) 7= Foq E=fE

(3) &= FT AU TT AT
(4) == =1 Feoraor e

[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) A class IV child is able to recognise the geometrical figures by their shapes as ‘a whole’ and
compare the figures with their prototypes of everyday objects.
As per the Van-Hiele's Theory of grometric thinking, the child is at level.
(1) Axiomatic
(2) Analysis
(3) Visualisation
(4) Deduction

FAT |V T T=31 SATHATT ATTE | &l ST ATHAAT 1 TO0 T H Ig= Ia1 g
R B o 7 s L 70 o e I B o 2 e s o s Al
AF-20 ST = = Tgie & ey, F==1 T OTE |
(1) =i
(2) Fredror
(3) gt
(4) R
[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q55]
1 [Option ID = 217]
2 [Option ID = 218]

3 [Option ID = 219]
4 [Option ID = 220]

A WN =



11) Which skill seems to be most important for a mathematics teacher ?

(1) Develop curiosity in students to search for solutions to problems.
(2) Provide all the information to the students to solve the problem.
(3) Ability to create lasting memories for students.

(4) Enable all students to do well in a test.

T ¥ BT forers 3 form Fa-ar Fiee sty Ag=a o Ta 2T 2 2

(1) FTHEITAT & FHATLTE @raid % oo Fenfagt & e T3 5747
(2) AT T HATETT F7 & foru =ty =1 Sqor =297 759 F7T |
(3) Fr=nta= & o et wyfaat gt == Fiv awar )

(4) TrelT O¥TeT | SgaT TR & oy aeir AErthat S 9AT a9 W |

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q56]
1 [Option ID = 221]
2 [Option ID = 222]
. 3 [Option ID = 223]
4 [Option ID = 224]

A W N -

12) According to National Curriculum Framework, 2005, assessments in mathematics at primary
level should focus upon
A. Assessing students’ mathematisation abilities.
B. Assessing procedures and memorisation of formulae.
C. Assessing processes rather than knowledge.

D. Assessing knowledge of algorithm to solve a specific problem
Choose the correct option :

1) Only A
2)BandD
3)AandB

(
(
(
(4)AandC



T 9T=AT ®9Er, 2005 F A9, WEAi |7 9T A H AEed
97 Hifed 2T AR |

A. TEEriEET Fit aftror Trmarst F e
B. TEEmT &l =1 1 72 % Arhere
C. 9 & T THATAT & ATFA—

D. T faters warer #it g %29 #it e [@Afer & J0 & A

el e #1 g+

(1) A

(2)B#7D

(3)A#TB

4)AdiTC
[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]

3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) What is the ‘Higher Aim’ of teaching mathematics according to National Curriculum
Framework, 2005 ?
(1) To prepare the learners for technical professions.
(2
3

(
(4) To develop life-skills related to livelihood among learners.

To help the learners acquire social and moral values to lead a fruitful life in the society.

To help learner to develop reasoning and critical thinking skills.

)
)
)
)

TTSET OT5I= AT ®92@T, 2005 5 STET T o f9re 7 ‘5= a5 #4782

(1) ToveaTi=rart =i A r=ht =TaeT & o J3T T |
(2) foremi=arT 7 FHIST |/ U " Srad S| & oy Jraiersn uH gt godr
T ATATT | HZF F4A7 |
(3) forenfoTt =1 fa== A T =9 Frorar F &5 § 993 F997 |
(4) TarerTf==t § TreTe He taa Saa-Fierei 1 =FH0 F77 |
[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]

3. 3 [Option ID = 231]
4. 4 [Option ID = 232]



14) Which among the following is nof a feature of creative thinking in Mathematics ?

(1) Generate original ideas and approaches to solve problems.
(2) Flexible and divergent thinking.
(3) Use the given procedure for solving problem.

(4) Multiplicity of approaches to solve the problem.

feterae | |7 F=-87 7000d § TS0 (=ae 1 T 781 ¢ 2

(1) FHEITEAT 3 FTHIETT g Jitors [E=2) U SUNTHT FiT Ioded FHTAT |
(2) w=teT T FATET AT
(3) THEAT & THTLTT gq 37 T7 Ta7 T IUTRT FHAT |
(4) TEEAT FHTEW gq 9 STTTHT T ST FH2AT |
[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q59]
. 1 [Option ID = 233]
. 2 [Option ID = 234]

1
2
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

15) Which of the following is most appropriate for ‘questioning’ as a Pedagogic tool in a
mathematics classroom ?

(1) It must start from gifted students.
(2) Asking too many questions in a small span of time will always lead to conceptual clarity.

(3) Students will develop a better conceptual understanding if a teacher asks a question and
answers it herself/himself.

(4) It should help in assessing errors and misconceptions of students.

eaterfes & @ F19-97 7o #1 Fa7 § foremreamsiT 370 F 7 § 999

FIAT F HIT H AAMEF STTF & ?

(1) 8 aiaareredt =Gy 7 ary &y sE1 e |

(2) TTET AT FATT H AT T TIAT T34 ATATOMHS FI02dT & A7 o
ST g |

(3) FE=redfT U= AT HEeaa T s A At wT AT e = 99T T
2 AT IHHT I AT =T FATE |

(4) = e it Ffeai o gifaat F e § ggadr 9t 3’ |

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_104_Q60]

. 1 [Option ID = 237]

. 2 [Option ID = 238]

1
2
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET



1) Consider the following statements about elephants :
A. Because of their heavy body structure elephants like to take too
much rest.
B. Even three month-old baby elephants generally weighs about 200
kilograms.
C. They love to play with mud and water.
D. In an elephant herd, male and female elephants move together
with their children.
The correct statements are
(1)A,BandC
(2)B,CandD
(3) A and D only
(4)B and C only

2T & a1 F = 7 o Fwuet a7 e St
AV e e 6 L S R D1 o e D 0 R A L 2 RO R
FLAT TS F0 g |
B. gl a% & dia #1g & gt & =4 FT AT TG 200
T 2T 2 |
C. g F1=Fe ;T ITT § FeAT 9gd TA= 2 |
D. T4t & e H, 77 AT 7IET g4l 99 a=41 & A
TAT 2 |
T FIATE
(1)A, B &= C
(2)B, C &7 D
(3) A &7 D 9
(4) B & C FAe
[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_104_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]

3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2) The martial art form of Kerala considered highly scientific in practice is known as :
(1) Theyyam
(2) Mudiyettu
(3) Velakali
(4) Kalaripayattu



LA T I=F T Al AT AeF FAT ST TAAT g, IH Fgd 8
(1) &=
(2) qfeaeg
(3) AT
(4) TG
[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_104_Q62]
1 [Option ID = 245]
2 [Option ID = 246]

3 [Option ID = 247]
. 4 [Option ID = 248]

A wnN =

3) Which of the following substances would you be able to separate from water by straining with a
cloth ?
(1) Milk, Salt
(2)
(3) Turmeric Powder, Oil
(4) Chalk Powder, Sand

Salt, Sugar

L e B e P e 2 7 e B e A 7 8 ' e TR e T s B
?

(1) 3@, 79

(2) 79, AT

(3) TR UTHET, q

(4) T a7, T
[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_104_Q63]
. 1 [Option ID = 249]

. 2 [Option ID = 250]

1
2

3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) Which of the following groups is made up of the same common ingredient ?

(1) Dosa, Pulao, Kheer
(2) Chapati, Dal, Salad
(3) Halwa, Biryani, Jelly
(4) Pickle, Idli, Halwa



feferfas § & S9-A7 T5g TF g T F Gr & AT H A9 g 2

(1) T, g, i
(2) T, TTA, AATS
(3) geaT, fEeerT, St
(4) =TT, TEAT, TeAT

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_104_Q64]
1 [Option ID = 253]
2 [Option ID = 254]
3 [Option ID = 255]
. 4 [Option ID = 256]

A wnN =

5) If a farmer grows paddy crop over and over again in his field using excess of fertilizers and
pesticides, then this practice will make the sail of his field

(1) suitable for paddy crops only.

(2) fertile for multiple crops in a year.

(3) fertile for crops of similar nature.
)

(4) barren.

2 Fre o™ 9o Fa7 § gt @7 FrearerEt F e F1 509 7S
T-ATT AT T FH IATAT g, q1 TH AL F a9 &q HT q2T

(1) =T &= T FHAl % (o7 I 2007 |

(2) TF AT | FT FHAL @ T TS gl JIA |
(3) THT 1T T FEal & Torw off IO g1 ST |
(4) FSTT 2T STIAAT |

[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_104_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) The ‘mukul hasta’ Mudra, which is formed on joining all the finger tips denotes :

(1) Determination
(2) Lotus flower
(3) Plucking flower

(4) Firmness



T T TR S AT St R A7 e 7 ey &zt 2
(1) ggme=T

(2) F9eT FT TA
(3) T FrewT
(4) Tz

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_104_Q66]
1 [Option ID = 261]
2 [Option ID = 262]
3 [Option ID = 263]
. 4 [Option ID = 264]

A wN =

7) What should a person diagnosed with anemia be advised to eat/drink ?

(1) Beetroot juice and Spinach

(2) Pomegranate juice and Milk products
(3) Lemonade and Jelly

(4) Cucumber and Tomato soup

TE i EE Faemar B TgEW ge g, SHE FT gr/d Y garg &
STTOAT 2
(1) TH=T HT TH 97 T
(2) ST T 7 AT IS & a7 9=
(3) 1 TTHT AT AT
(4) I AT ZH1ET T T
[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_104_Q67]
1 [Option ID = 265]
2 [Option ID = 266]

3 [Option ID = 267]
4 [Option ID = 268]

AN wnN -

8) To retain nutrients in the food, before eating one should make sure to

(1) wash fruits and vegetables after cutting them
(2) overcook the food
(3) wash rice and cereals in a lot of water

(4) cook the rice or cereals in the water in which they are soaked



AT | TTH-A7 AT TG4 % 00 &7 T Tgel g4 A9 FIT FTAT
=TT ?

(1) F1 T T FT T2 & 913 a7

(2) AT FT ATIF I TH THET

(3) FTAS TAT FATSIT Fl &% ATT ITAT H &TAT

(4) FTAST FAT AATST B IHT T H THAT o9 g AT 74r 2
[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_104_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]

3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) A group of eatables rich in iron is

(1) Amla, Spinach, Jaggery

(2) Amla, Tomato, Jaggery

(3) Spinach, Cabbage, Tomato
(4) Amla, Cabbage, Jaggery

Alg-AvAl () 7 T5T G0 AT FT AR B

(1) St=reT, aTeT, T2

(2) ST, ZHTET, T2

(3) TTeTe, FAFRATHT, ZHTET
(4) sit=@T, Fe=reT, T

[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_104_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Birds lose their feathers at certain times. This process is called

(1) Hibernation
(2) Stridulation
(3) Moulting
(4) Shelling

wedt [RT9=e 7o 9% erae 9l 1 @7 &9 ¢ | Tg TiohAT Fgerdi g
(1) ErzaTaanT (sftaeam)

(2) FFegetar (FH=H1ET)
(3) HifweT (AATEAT)
(4) grferT (fem)




[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_104_Q70]
1 [Option ID = 277]
2 [Option ID = 278]
. 3 [Option ID = 279]
4 [Option ID = 280]

A W N -

11) Water is said to be scarce in an area if
(1) every household gets water for daily use.
(2) water comes to that area only via taps.
(3) water received is unsafe for drinking and cooking.

(4) people can do washing and cleaning with the water received.

e & § &7er o1 T FR T Al S 9

(1) =T =27 AT TASHT 6 FAT F [T qreT Hear g |

(2) 39 43 | O FaeT qAl 7 qAT ¢ |

(3) 9TeA ZIe ATAT T dT T FTAT ThTH % forT Siad g |
(4) 9T UTHT F AR &G T TR FT HH F7 A0 g |
[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_104_Q71]

1 [Option ID = 281]

2 [Option ID = 282]

3 [Option ID = 283]
4 [Option ID = 284]

A w N =

12) Torang in Kuduk language means the following :

(1) forest produce
(2) forest
(3) forest dwellers

(4) barren forests

FZH AT § Te7 F7 Fefortad a9 €
(1) 77 FI=
(2) a9
(3) FATATHT
(4) ReweT a7
[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_104_Q72]
1 [Option ID = 285]
2 [Option ID = 286]

3 [Option ID = 287]
4 [Option ID = 288]

A W N -



13) Your house is located at X and the milk shop is located at Y. There is no straight path from
your house to the milk shop. So, you first go to A which is 50 m due North of X, then go to B
which is 60 m due West of A, then go to C which is 50 m due North of B and finally you reach
the milk shop at Y which is 100 m due East of C. With respect to the milk shop, the direction of

your house is

(1) North-East

(2) North-West
(3) South-East
(4) South-West

gt 7Y X % R g Ao 3w AT Y = AT g | AT 97 /gy A g
T AT o FE Frar T A8 S | A9 TE AT A T ST £ S X F A
SAEHAS0OMAT TN IS, T B I o g ST A F 3% ufeFa H 60 m T AT L,
TR CTHEATMETNBFIAFITCH S0 m TN ITE AT Ava § AT Y T7 39 i
AT U Ggad & @1 C % 31% T3 § 100 m Hf T 92 2 | 3T Ht T % A1ae
ATy o A fRar g

(1) T

(2) FTz-afe=Tw

(3) Fferr-1

(4) SFEroT-afo=T
[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_104_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]

3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) The soft part of the feather of birds on either side is known as

(1) Barb

(2) Rachis
(3) Quill

(4) Calamus

&It F O JAT AT A HATIH G0 Fgeardl g

(1) 3

(2) T

(3) Faer

(4) T
[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_104_Q74]
1. 1 [Option ID = 293]

2. 2 [Option ID = 294]
3. 3 [Option ID = 295]



4. 4 [Option ID = 296]

15) A person with Malaria would have most common symptoms like
(1) fever with cough and cold
(2) diarrhoea and fever
(3) chills and fever

(4) blisters on skin with fever

AT & 57 =T FT qTHAT: T ZH

(1) T@TE F AT FIET T THH
(2) 35 4T AT

(3) 3T AT AT AT

(4) =T I TR TAT AT

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_104_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_CTET
1) Which of the following is the most important for students on a field trip for EVS teaching ?

(1) Setting goals of field trip
(2) Choosing means of travel
(3) Creating opportunities for discussion

(4) Maintaining reflective journal

i Fegae form F oo fFEnfEy i 4 ogmw T @ 9 % 3
Feaforfaa |/ 7 =0 gaiteas ag=aam g ?
(1) &= 9T F @eAT T e
(2) JTT & FTETH FT FI0H
(3) =T ¥ FAw giorg F7A7
(4) Fawefie steer foraeT 7 73T
[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_104_Q76]
1 [Option ID = 301]
2 [Option ID = 302]

. 3 [Option ID = 303]
. 4 [Option ID = 304]

A WN -



2) Indicate the correct sequence among four stages of organising an activity-based approach in
EVS.

(1) recapitulate the theme, extend support to each student, have a well-organised plan, create
a positive emironment

(2) extend support to each student, recapitulate the theme, create a positive environment,
have a well-organised plan

(3) create a positive environment, have a well-organised plan, extend support to each student,
recapitulate the theme

(4) have a well-organised plan, create a positive environment, extend support to each student,
recapitulate the theme

e R B e e e B O 1 e 0 s e R 1 M T B o e e B T R R 1)
% HEl HH A S0 e |

(1) Ao it qaeEt, g2 FErefl &1 9999 397, UF 9E TR e

(2) e et i s 3, By f e, U aEees A w51

(3) T FHTLIHT ATATACOT KT AT FLAT, T FAT THI AT JTSTAT, Tl
A=l &t o 391, g i e

(4) T AT THTT ATATISTT TTSTAT, TH FHIITHE ATATA20T T G A FLAT, Ted+
BT &1 79 &4, = i e

[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_104_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

3) During a visit to a park in the rainy season, it started raining and all students opened their
umbrellas.
Ria asked “Won't plants catch cold if they get wet in rain 7"
What should her teacherdo ?
A. Tell students that plants can catch cold by viruses just like us.
B. Tell students that plants are not affected by viruses.
C. Ask students how they can protect plants from catching cold.
D. Ask all the students about what they think about Ria’s question.

1) AandB
2)BandC
3)CandD

(
(
(
(4)Aand D



UL g F I AT F I, AT o 21 7% o el Bt 7 e g

g =3 |

T & w3, o= o ATreer | frer gr W AT T Irg, TAl Agl aani 2

A. BT 7 FgAT =10 BF gAT a7 wret i Farst § e @9
CELIE

B. FA=ntat & wger Arten & 9ve At F yarET 75t g g |

C. F=nta=i & TgAT ITMey, & 7 9T4T Ff S a9 § 77 F=971 99 3 |

D. oot A=t & qAr =S & T R % ged F A § =1 9= 2 |

(1)A#TB

(2B#TC

(3)C#H= D

(4)A &= D
[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_104_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]

3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

4) Cooperative Learning approach in EVS is
(1) To enhance the value of individual activities in the groups
(2) To enhance the value of themes for group tasks
(3) To enhance the value of groups activities

(4) To enhance the value of teacher in the groups

AT AT H HgH (1T ATEH ST §

(1) T2t | =tehra et % /9 | g
(2) mTTea At & o &= & 719 J g1
(3) 7HE F ATl F °E H g

(4) T 92T ¥ forers ¥ /A H g

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_104_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]



5) Riddhi chooses girls of class V for Rangoli making on Independence Day. The Principal asked
her to choose some boys also for this activity. The Principal is addressing which of the
following EVS curricular expectation at the primary level ?

(1) Creating an awareness about environment through varied experiences
(2) Developing process skills through interaction with environment
(3) Developing sensitivity towards natural, physical & human resources

(4) Identifying issues concerned with equality, justice & human dignity

T mdear Ras o Set a9 F O war VoA s 1 999 w7 2
TATATETTH IH & Tidiaid F (0 e gl 1 @7 F99 F29 F Fa2d 2 |
TETATEATTH ATIEF w7 77 Mafafag § § -8 T3E00 d8997 209491
FTAT T GAET FL TZ 2 ?

(1) AT AqEET F JIEAH F G090 F AT H AEHAT JeTe el
(2) ITT=rer & | AFATHAT 5 AT T FIHAT 9T T (A1 FoAr
(3) 9TFTaH, HITF &IT A7 FHIAAT F I HAZT9ear FFmag FAr
(4) FHTAAT, 7T TAT AT TEHAT F AT 2160 Tg= HeAm
[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_104_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]

3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) Creative expression in EVS

(1) is not feasible.
(2) is dependent on learners.
(3) is essential for innovation.

(4) leads to waste of time.

TATATI HETAT H TSATCHT ATHT 4

(1) HEET gl g |
(2) feretaat o= AT 2
(3) TEATETE & TorT 9T+ 2 |

4) THT AU FLAT 2 |
Q

[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_104_Q81]
1 [Option ID = 321]
2 [Option ID = 322]
. 3 [Option ID = 323]
. 4 [Option ID = 324]

A W N -



7) Method that allows learners to apply and practice what they have learnt :

(1) Questionnaire Method
(2) Observation Method
(3) Project Method

(4) Experiment Method

A THH ST FULTET 7, ST Iegia AT 2, HOTART AT AFITT F 60 AT
(1) TIT=AT THFT
(2) AT T
(3) TTTSTAT T
(4) FTETRTs e
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_104_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]

4. 4 [Option ID = 328]

8) “Learning is a continuous process.” In ‘learning’ of Environmental Studies which of the
following are most impertant ?
A. Interaction with teacher
B. Textbook & reading material
C. Experiences during learning
D. Interaction during activity

1)A,BandC
2)AandB
3)BandC
4)CandD

(
(
(
(
“HYEAT U Faa AT g 17 TAiae degdy Auw § He F oo featatEa §
o AT AAAT A=A 2 ?

A. T91e7% | 1A= 1

B. ITEITETE T T ATHUT

C. #Hr&E F =21 gu dAqdT

D. fFarereT & S s

(1)A, B &= C
(2) ASTB
(3)B&#TC
(4)C & D



[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_104_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

9) Pedagogical approach for EVS teaching-learning should adopt

(1) unknown to known approach
(2) slightly unknown to slightly known approach
(3) known to unknown approach

(4) slightly known to slightly unknown approach

WAL LA o (TS -A T & A0 SIWTH &l AT FeAT A1e0

(1) ST=TT T T SATH
(2) 37T AT | AT TTT ST
(3) AT 7 HATH TATTH
(4) 37T AT T AT T ST

[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_104_Q84]
1 [Option ID = 333]
2 [Option ID = 334]
3 [Option ID = 335]
4 [Option ID = 336]

A W N -

10) Which of following assessment tools will be most suitable for school-based assessment in EVS
?
A. Paper-and-pencil test
B. Group work
C. Performance test
D. Project work

1)Aand C
2)B and D
3)Aand B

(
(
(
(4)CandD



AT derEe Aur § FeEner-arata arrem 2 ReEEs § 7 fea
A. 7T AT dieer Tdrar

B. aHg

C. fAar=s adfremr

D. afrsHT F:1d

(1)AFTC
(2) BT D
(3) AT B
(4)C & D

[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_104_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

11) The role of an EVS teacher is best described as

(1) Provider of knowledge
(2) Giver of knowledge

(3) Facilitator of knowledge
(4) Creator of knowledge

T A o fOrer A giiw A = § 96 0 g
(1) ST * =TT F T H

(2) ST  3TAT & =Y

(3) T & qIHFAT & =T H

(4) ST F FAHAT 1 B H

[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_104_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]



12) Which of the following components must essentially be incorporated while structuring the EVS
curriculum ?

A. An explanation of major concepts with examples

B. Questions related to natural curiosity of children

C. Connecting knowledge with life of children

D. Incorporation of cultural-social diversity

E. Activities and resources related with major concepts
(1)A,Band C

(2)B,CandD
(3)A,CandE
(4)A,DandE

freafarfas & & F9-7 9281 &1 THE9, TIE @909 IS & 9ei=d
Fd THT FTgeTE = 7 Far sEr "/ 2

B. F==1 & Tt forsmar o gafe go

C. ST & =41 & Sad o A1

D. T fa®-AaraTier ATHwar F1 791aer

E. W@ "9t & "etaa i fAfeet ud dgaree

(1)A, B @7 C

(2)B, C #TD

(3)A, C #TE

(4)A, DHTE

[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_104_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

13) Tools that can be used for observation include

(1) Anecdotal Record
(2) Blackboard

(3) Worksheets

(4) Textbook



ATER ST T % for o= T o =6 g, |ieafoa #2928
(1) T=ie afrera

(2) ATHIZ
(3) FTUH

(4) UTETTEF

[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_104_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) Anaya observed ants carrying a dead centipede. On this basis she concluded that ants are
very powerful and even if they are small, they can carry bigger animals.
Which of the following EVS process skills are involved by Anaya in making this generalization 7

A. Observation

B. Prediction

C. Estimation

D. Experimentation

E. Inference
(1)A,BandC
(2)C,Dand E
(3)B,CandD
(4)A,CandE

SFTAT STl 0 T HY g FHid@a]d &l O ST g0 2671 | 36 AL 0% 6 A5
end e T fifeat aga amraas g g & gret g 92 € F 98 WA
T o ST HFAL & |

T ATAA LT 7% Tg=n °§ d@qrar grr et maae aera & gt
Frorert | & T Frerei Fv qieatoa w2

-

A. FFAFA
B. wiawramft
C. g9
D. ¥amT

E. fHord
(A, B#HTC
(2)C,D T E
(3)B, C & D

4)A, C #TE



[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_104_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

15) Which of the following is the best description of the nature of school-based assessment ?

(1) Quantitative assessment
(2) Prescriptive assessment
(3) Descriptive assessment

(4) Constructive assessment

fReaferfas § 7 F-At Fere-sratta arram i g5t f 7@y == g 2

(1) T AT
(2) FEeTea=F AT
(3) AHATEHT AT
(4) T=EATHSE ATFAT

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_104_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- HIN_Q91-99_L1_P1_CTET



") fRder ; Refofa Terier 71 vEET 9F T g4T ¥ ag/aaE §uge 997 ar
o 1 A0 |
THET T gl |/ Tgd g WA AU g & A FAET H AH: AT A31 g | THH
OTHT Z1 T, T AT $Ed BET | 99 9286l 91 30§19 Tg T AR
erar g & gasr AT g Fi 3FAT g | ag v v ug o7 ey w7ar g, e
¥ OTHT FT AT g | T9F &1 AT IIET0 1 976 FLeh, IHH G99 52 Feh
TH IGT g | ST A T AT 52 FT 3 91 S99 T915 g1 ST | g Arsy 6
AT ST -1 % 7T & | UAT et ¢ 56 7 (47) & 0% g7 a1 e ferwert
AT | A gL AT (oherd T g oiT FU1 % =7 § T2 &47dt 92 J29q7 ¢ | 74 it 7247
| TIHT HHF T A AT 947 2 | WO 97 ST SR 9T G159 H 89
STAT 2 | 29 ATl 7 AT il ZA70 9gd 32 A Sl 9% of Sl g | 5 &
UETET AT A S| A% HITEA Tg=adl g a1 Jgi i 3% T 37 ATa0 g | UgE
A =7 /AT Fgd 2 6 T F T 92 Sig T8 2 | T A9 95 g9 R gH
T | FASTAT FT HATT F27 |
TR F FT AT FETTATE

(1) TTH-TIT FA
(2) F9T F I

(3) 7z F
(4) TETET 3 ST

[Question ID = 121][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q91]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]



2) fader : fReforfa T 71 Tg%7 05 77 747 ¥ Gg/AaE §9g g9 a5
o 1 A0 |
THET T gl |/ Tgd g WA AU g & A FAET H AH: AT A31 g | THH
OTHT Z1 T, T AT $Ed BET | 99 9286l 91 30§19 Tg T AR
erar g & gasr AT g Fi 3FAT g | ag v v ug o7 ey w7ar g, e
¥ OTHT FT AT g | T9F &1 AT IIET0 1 976 FLeh, IHH G99 52 Feh
TH IGT g | ST A T AT 52 FT 3 91 S99 T915 g1 ST | g Arsy 6
AT ST -1 % 7T & | UAT et ¢ 56 7 (47) & 0% g7 a1 e ferwert
AT | A gL AT (oherd T g oiT FU1 % =7 § T2 &47dt 92 J29q7 ¢ | 74 it 7247
| TIHT HHF T A AT 947 2 | WO 97 ST SR 9T G159 H 89
STAT 2 | 29 ATl 7 AT il ZA70 9gd 32 A Sl 9% of Sl g | 5 &
UETET AT A S| A% HITEA Tg=adl g a1 Jgi i 3% T 37 ATa0 g | UgE
A =7 /AT Fgd 2 6 T F T 92 Sig T8 2 | T A9 95 g9 R gH
T | FASTAT FT HATT F27 |

(1) 55T Zavsit
(2) FTE=T
(3) Tt A
(4) Tz AT

[Question ID = 122][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q92]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]



3 fader : ReforfaT T 71 wze7 75 T7 747 ¥ Gg/A9E 594 g9 a5
o 1 A0 |
THET T gl |/ Tgd g WA AU g & A FAET H AH: AT A31 g | THH
OTHT Z1 T, T AT $Ed BET | 99 9286l 91 30§19 Tg T AR
erar g & gasr AT g Fi 3FAT g | ag v v ug o7 ey w7ar g, e
¥ OTHT FT AT g | T9F &1 AT IIET0 1 976 FLeh, IHH G99 52 Feh
TH IGT g | ST A T AT 52 FT 3 91 S99 T915 g1 ST | g Arsy 6
AT ST -1 % 7T & | UAT et ¢ 56 7 (47) & 0% g7 a1 e ferwert
AT | A gL AT (oherd T g oiT FU1 % =7 § T2 &47dt 92 J29q7 ¢ | 74 it 7247
| TIHT HHF T A AT 947 2 | WO 97 ST SR 9T G159 H 89
STAT 2 | 29 ATl 7 AT il ZA70 9gd 32 A Sl 9% of Sl g | 5 &
UETET AT A S| A% HITEA Tg=adl g a1 Jgi i 3% T 37 ATa0 g | UgE
A =7 /AT Fgd 2 6 T F T 92 Sig T8 2 | T A9 95 g9 R gH
T | FASTAT FT HATT F27 |
TR 7 AATE AL =T
(1) 51 =1 HEAT FHACT =AM |

(2) T AT HETT THAAT AT |
(3) ATEAT T ALHA T TIHAT AT |
(4) = ST TgTEl T THAT 120 |

[Question ID = 123][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q93]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]




Y fRder ; Fefafas = w1 9297 05 77 T4 F ag/aas guge 997 a7
o 1 A0 |
THET T gl |/ Tgd g WA AU g & A FAET H AH: AT A31 g | THH
OTHT Z1 T, T AT $Ed BET | 99 9286l 91 30§19 Tg T AR
erar g & gasr AT g Fi 3FAT g | ag v v ug o7 ey w7ar g, e
¥ OTHT FT AT g | T9F &1 AT IIET0 1 976 FLeh, IHH G99 52 Feh
TH IGT g | ST A T AT 52 FT 3 91 S99 T915 g1 ST | g Arsy 6
AT ST -1 % 7T & | UAT et ¢ 56 7 (47) & 0% g7 a1 e ferwert
AT | A gL AT (oherd T g oiT FU1 % =7 § T2 &47dt 92 J29q7 ¢ | 74 it 7247
| TIHT HHF T A AT 947 2 | WO 97 ST SR 9T G159 H 89
STAT 2 | 29 ATl 7 AT il ZA70 9gd 32 A Sl 9% of Sl g | 5 &
UETET AT A S| A% HITEA Tg=adl g a1 Jgi i 3% T 37 ATa0 g | UgE
A =7 /AT Fgd 2 6 T F T 92 Sig T8 2 | T A9 95 g9 R gH
T | FASTAT FT HATT F27 |

#aa: B AU F =Y F q7HAT |
(1) AT S
(2) TG AT 5T
(3) TRTET T ST
(4) AT T ST

[Question ID = 124][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q94]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]



5) fader : fReforfaT Terer 71 Tz 75 T7 T47 ¥ Gg/AaE g9g g9 a5
o 1 A0 |
THET T gl |/ Tgd g WA AU g & A FAET H AH: AT A31 g | THH
OTHT Z1 T, T AT $Ed BET | 99 9286l 91 30§19 Tg T AR
erar g & gasr AT g Fi 3FAT g | ag v v ug o7 ey w7ar g, e
¥ OTHT FT AT g | T9F &1 AT IIET0 1 976 FLeh, IHH G99 52 Feh
TH IGT g | ST A T AT 52 FT 3 91 S99 T915 g1 ST | g Arsy 6
AT ST -1 % 7T & | UAT et ¢ 56 7 (47) & 0% g7 a1 e ferwert
AT | A gL AT (oherd T g oiT FU1 % =7 § T2 &47dt 92 J29q7 ¢ | 74 it 7247
| TIHT HHF T A AT 947 2 | WO 97 ST SR 9T G159 H 89
STAT 2 | 29 ATl 7 AT il ZA70 9gd 32 A Sl 9% of Sl g | 5 &
UETET AT A S| A% HITEA Tg=adl g a1 Jgi i 3% T 37 ATa0 g | UgE
A =7 /AT Fgd 2 6 T F T 92 Sig T8 2 | T A9 95 g9 R gH
T | FASTAT FT HATT F27 |
AT Al Sewaare |

(1) ZAT
(2) T-Feot
(3) TErfEat

(4) =

[Question ID = 125][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q95]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]



o) fader : fReforfaT werer #1 Tg%7 TF T7 T4T ¥ GE/ATE S I AT
o 1 A0 |
THET T gl |/ Tgd g WA AU g & A FAET H AH: AT A31 g | THH
OTHT Z1 T, T AT $Ed BET | 99 9286l 91 30§19 Tg T AR
erar g & gasr AT g Fi 3FAT g | ag v v ug o7 ey w7ar g, e
¥ OTHT FT AT g | T9F &1 AT IIET0 1 976 FLeh, IHH G99 52 Feh
TH IGT g | ST A T AT 52 FT 3 91 S99 T915 g1 ST | g Arsy 6
AT ST -1 % 7T & | UAT et ¢ 56 7 (47) & 0% g7 a1 e ferwert
AT | A gL AT (oherd T g oiT FU1 % =7 § T2 &47dt 92 J29q7 ¢ | 74 it 7247
| TIHT HHF T A AT 947 2 | WO 97 ST SR 9T G159 H 89
STAT 2 | 29 ATl 7 AT il ZA70 9gd 32 A Sl 9% of Sl g | 5 &
UETET AT A S| A% HITEA Tg=adl g a1 Jgi i 3% T 37 ATa0 g | UgE
A =7 /AT Fgd 2 6 T F T 92 Sig T8 2 | T A9 95 g9 R gH
T | FASTAT FT HATT F27 |
AT o AT AT gl

(1) 7T
(2) &
(3) Tt
(4) 7=

[Question ID = 126][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q96]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]




7 fRder : Reforfa T 71 Tz 05 TT 747 ¥ Gg/AaE g9g 997 a5
o 1 A0 |
THET T gl |/ Tgd g WA AU g & A FAET H AH: AT A31 g | THH
OTHT Z1 T, T AT $Ed BET | 99 9286l 91 30§19 Tg T AR
erar g & gasr AT g Fi 3FAT g | ag v v ug o7 ey w7ar g, e
¥ OTHT FT AT g | T9F &1 AT IIET0 1 976 FLeh, IHH G99 52 Feh
TH IGT g | ST A T AT 52 FT 3 91 S99 T915 g1 ST | g Arsy 6
AT ST -1 % 7T & | UAT et ¢ 56 7 (47) & 0% g7 a1 e ferwert
AT | A gL AT (oherd T g oiT FU1 % =7 § T2 &47dt 92 J29q7 ¢ | 74 it 7247
| TIHT HHF T A AT 947 2 | WO 97 ST SR 9T G159 H 89
STAT 2 | 29 ATl 7 AT il ZA70 9gd 32 A Sl 9% of Sl g | 5 &
UETET AT A S| A% HITEA Tg=adl g a1 Jgi i 3% T 37 ATa0 g | UgE
A =7 /AT Fgd 2 6 T F T 92 Sig T8 2 | T A9 95 g9 R gH
T | FASTAT FT HATT F27 |

HAST 1 AT I T AT g | UAT FT FET AT ?

(1) FF=T I S HAT g |

(2) HE FA T AL |

(3) 91T T =FATH F Torw It AT |
(4) AT T ATERTT AT TAHT |

[Question ID = 127][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q97]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]




8 fader : Fafofaa Tere #1 297 05 77 747 F ag/aas gugT 997 a7
o 1 A0 |
THET T gl |/ Tgd g WA AU g & A FAET H AH: AT A31 g | THH
OTHT Z1 T, T AT $Ed BET | 99 9286l 91 30§19 Tg T AR
erar g & gasr AT g Fi 3FAT g | ag v v ug o7 ey w7ar g, e
¥ OTHT FT AT g | T9F &1 AT IIET0 1 976 FLeh, IHH G99 52 Feh
TH IGT g | ST A T AT 52 FT 3 91 S99 T915 g1 ST | g Arsy 6
AT ST -1 % 7T & | UAT et ¢ 56 7 (47) & 0% g7 a1 e ferwert
AT | A gL AT (oherd T g oiT FU1 % =7 § T2 &47dt 92 J29q7 ¢ | 74 it 7247
| TIHT HHF T A AT 947 2 | WO 97 ST SR 9T G159 H 89
STAT 2 | 29 ATl 7 AT il ZA70 9gd 32 A Sl 9% of Sl g | 5 &
UETET AT A S| A% HITEA Tg=adl g a1 Jgi i 3% T 37 ATa0 g | UgE
A =7 /AT Fgd 2 6 T F T 92 Sig T8 2 | T A9 95 g9 R gH
T | FASTAT FT HATT F27 |
g 7 fqors= g

(1) 7
(2) 7

(3) FAT
(4) =T

[Question ID = 128][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q98]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]



O fAder ; [RwfafaT e #1 9% 76 T g7 & agi/aad g9 Iu7 I
o #r gfAT |
THET T gl |/ Tgd g WA AU Ug & A FAET H AH: AT I51 g | THH
R e P O o e A I = B = RS2 702§ B2 I M s 2 B | R
grar g & gasr AT 9 F 3T g | ag us vy ug g7 ey w7ar g, ©E
UT AT T AMATA S | T ST AT ITHT 60 AT HTeh, FAHT G097 TL Fh
TH ISGT g | ST A T IS4 52 FT 3 91 S99 T915 g1 ST | F8 Arsy o
T TTE-TI0T 3 75T & | UAT A ¢ T #9 (F07) & 796 7 0 g fer
AT | A gL AT (bl g &iT F07 % =7 § T2 g7t 92 J29q7 ¢ | 74 it 7247
H TTHT FHFE T U0 90T 747 g | e 910 $UT AT JTRT 189§ 9
WTAT 2 | S9 ATl T ATAEA il gaT0 9gd 52 6l SEral a% of Sl g | 5 &=
UETET AT e S| A% HITEA Tg=adl g o1 dgi (1 5% T 37 ATar g | UZE
A A 9T Fgd 2 6 B 7 TR A2 WA T2 2 | TH 9% I8 9757 g
T | qFS FT FT HFTE F4
T FTga 9T e
(1) e T2 AT T8
(2) e g =I5 T 8N
(3) oot =T 9vegms 7 2l
(4) ST e aftqa T ar

[Question ID = 129][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q99]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

Topic:- HIN_Q100-105_L1_P1_CTET



") fREer ; fAEfoae FTErer #F TEET 95 TT I49T # ag/aad gugTh 597 AT
AT #T FiA7 |
Ut T ¥, et Tt avel & 34,
Ao AT g ATS Fea e |
TE-E TEaT 1% T Fl 9 97 59,
Z9-Z0 ALAT F qF F A 43 ATHA |
AT g IR Bl ATl 3 S FA-3,

TH-2H A7 A1 B 99 7 H=Ea |
gaqE ATt ® @ e A0 A |

ATE F U=1 % Forra 7 T e A g2
(1) =T |

(2) dET |

(3) stgfert &

(4) grat &

[Question ID = 130][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q100]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]



2) fader ; Al FTATT FT 9897 T8 T0 T97 # agi/Fa8 g9qw o7 a7
Ao #r AT |
U & T, T Tt ATET F 3,
TE-TE TEAT g7 JATCE HT T TT FHA,
Z9-Z0 ALAT F qF F A 43 ATHA |
AT T IO g1 ATl & § Fe1-3,
TH-2H A7 A1 B 99 7 H=Ea |
SHHA gATAT § @ e AT HIA |
FiadT F F F qT790 2
OELR
(2) FTATT
(3) ==

(4) ST

[Question ID = 131][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q101]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]



3 fader : fAEfoifaT #1279 #1 9297 U5 70 T497 # Aagy/a9d SUgw 597 I
Ao 1 AT
Ut T ¥, et Tt avel & 34,
TE-E TEaT 1% T Fl 9 97 59,
Z9-Z0 ALAT F qF F A 43 ATHA |
AT Tg TN I ATl 5 § Fe1-3e,
-3 i Fiy Ramt a7 & fee
SHHA gATAT § @ e AT HIA |

AT H T A 7 s M @ e ?
(1) SZAT & 29 7

(2) Arfert o= &

(3) wferaT F e 7

(4) AT BT |

[Question ID = 132][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q102]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]




4 fader : fA=fefaT FT=rmer #t 7257 5 T0 T497 # agi/a9d 399 397 o7
Ao 1 AT
Ut T ¥, et Tt avel & 34,
TE-E TEaT 1% T Fl 9 97 59,
Z9-Z0 ALAT F qF F A 43 ATHA |
AT g IR Bl ATl 3 S FA-3,
-3 i Fiy Ramt a7 & fee
SHHA gATAT § @ e AT HIA |

A B g | A age

(1) S Tad g

(2) TEpfeerT g

(3) A== g
(4) AT greT

[Question ID = 133][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q103]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]



5) fader : fAEfoifaT #1279 #1 7297 U5 70 T497 # Agy/a9d SUg 597 I
Ao 1 AT
Ut T ¥, et Tt avel & 34,
TE-E TEaT 1% T Fl 9 97 59,
Z9-Z0 ALAT F qF F A 43 ATHA |
AT g IR Bl ATl 3 S FA-3,
-3 i Fiy Ramt a7 & fee
SHHA gATAT § @ e AT HIA |

T e AT HOA AT

(1) &t HITATHT F T T
(2) AT T FTMTATIGE |
@) TE g F AT TR E |
(4) TefT FeT T HIAT FIHATFT 78 2 |

[Question ID = 134][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q104]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]



6 fader : fAEforfaT #2779 #1 7297 U5 70 T47 # Agy/aad SUq 597 I
Ao 1 AT
Ut T ¥, et Tt avel & 34,
TE-E TEaT 1% T Fl 9 97 59,
Z9-Z0 ALAT F qF F A 43 ATHA |
AT g IR Bl ATl 3 S FA-3,
-3 i Fiy Ramt a7 & fee
SHHA gATAT § @ e AT HIA |

THg ° fOe o= m g

(1) TE-7%
(2) =02

(3) FF-719

(4) FoT-3
[Question ID = 135][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q105]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]

3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

Topic:- HIN_Q106-120_L1_P1_CTET

) T TETF TEAT AT T AT SO ATAT TF AT I TR0 F T G H ATAT S0
ATt Bt 7 9= 3 | =9 foear 1 &F| =9 F =7 Sar g 2
(1) = B Frafert 2
(2) 7 fafees a2 |
(3) = 2T i U= et 7 Hely Tl 2 |
(4) T s Jror g § A anedt #1390 978 F7 60
[Question ID = 136][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q106]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]

3. 3 [Option ID = 543]
4. 4 [Option ID = 544]




2) fRmforfera & & Fre-ar 9T Jfaw F w5y T 95 dgie 2
(1) STIT T AT SeedT0 TART & J1eq9 | AFHa gl ¢ |
(2) @femTe F Ara=ta, e, areT 397 ST 9 Jgar o g |
(3) ATEATT ATaT At AHIaAT e | i HiEw F FETEAT g |
(4) FTIT FT TART TAHTES (HF10 § TREH 397 ¢ S 366 [0 TH-J0 AT
€2
[Question ID = 137][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q107]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]

3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

3 fraferfes 7§ 55 9raret 1 97 99 51T ATE T 9107 % 7 § 49T 31
Ty ?
(1) T, THe, SR, T, HAATdq A7 ST
(2) TB==T, 9o, Fele, HodTaH, e & Sfear
(3) HFa, ATHE, 99, T, HIAT A7 ITeAT
(4) FeFd, THA, T, FoE, AAATAH A Thear
[Question ID = 138][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q108]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]

3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

4 forerT § FIGTHT AT ag e F FT 49 g 2
(1) forearfT sroeft g § Femeeft foren gy w29 £ & S99 9 9gT
(2) Forerreft e =Y FAroer 7=t ATETeT ¥ 9gd § T AR ST S| qreAw
HUzd 2 |
(3) Foreart FgaTaT UF 9TAT F =0 F #{iaq g A AEre § S9-S0 a6 98q
2, SIS AT | HLATH F7d ¢ |
(4) ToraarT =& U F 21 AT Hrad g A HREerT F qreatas w7 q 9red iy
TTOT HTEH 7 AU JTEHH FIA 2 |
[Question ID = 139][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q109]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]

3. 3 [Option ID = 555]
4. 4 [Option ID = 556]



%) TE=merT forerr & ‘agwraTATE R TR & T HEEE g 2

(1) T2T 7% H9T 21, AT | JTaE ATIvsi F oreqo

(2) r=tett sarar foveaar AT =1 =t

(3) AT | foramtfi=t it ATaTat T TAET

(4) FeaT | 7o foreqor iy 7479 3 =7 § o=
[Question ID = 140][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q110]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]

3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

6) & FIe ATTCT q ATAT S1Edl g, A2 39 ATHT &1 F1a T 396 TANT % 0 T
HHT @41 g | 39 A9T8 &7 36 59 F §1E71 9141 g 2
(1) ATATFRA AATE
(2) H1 r=ta
(S)ﬁ‘riii?ﬁ"fﬁ Fater
(4) FFATAT FAATE
[Question ID = 141][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q111]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]

3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

7) T FEATTE T AT F H @eT g At ol o = e o fAEd ez
S FATAT 3 | QTR0 6 G WIEl il (6| & & FA1 90971 2 2

(1) TAFTHF T2
(2) BT srg

(3) TAT ST
(4) o sire

[Question ID = 142][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q112]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]



8 wm FIeaTe T 1 GrE-grET fglHal 9693 #edl § AT 99 97 39 997
THerar 8, 98 9 FE=a1 F1 92q7 g | TF THT F G5 &l F7 Fgl 01 g ?
(1) T 1% 97 AT
(2) ITETRT 7 T=AT
(3) =T 7 mEAT
(4) Fr=ar T 77T

[Question ID = 143][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q113]

1. 1 [Option ID = 569]

2. 2 [Option ID = 570]

3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

9 Fafatad § & F-AT ST A TeHE Iaedd T A 999 dglfvar g ?

(1) F=tea FOgt 9T 99g 9EgeET we
(2) foraarfegt =t AR & e (Fma=ta) & FoAT
(3) FHE FF, ST H Fd AT AYAT TEAT § TF A7T F14
(4) FEATT GIT FATEW A7 Aaerd F1d

[Question ID = 144][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q114]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

10) fsrforfa 5 & Fra-a7 et § vz @FaT 5o #7 9297 agie ?

(1) TTETETRIT F 950 g0 99 o MRy gEAr

(2) TTEETHHT HT AT X AGEA] F ST

(3) oT=aT SiI¥ 9ors% |Hgl & 7 THAAT

(4) FTEATIF FILT TIE | ATAHT T2 F T2 IH 2T
[Question ID = 145][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q115]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]

3. 3 [Option ID = 579]
4. 4 [Option ID = 580]



") @AY, FHEAT 6 F TF ATHT AT IR0 S ATHL 01 Ao A a1
TEATH FAT Tl ¢ | T Ao F=nf=ay 1 aga T a1 367 A9 44T 5l 8
I 912 | #9o ARt | S A a9 R I 340 g | 3 g6 AT FET
ST g ?
(1) ferarermalT =y
(2) FeFTT-HaaaT-ramer
(3) ITET AEATH AT =ATHFI
(4) TEATF - APITH-T 0T
[Question ID = 146][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q116]
L L

3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

12) T HEATTH T TH T8FRAe THAT ST ACATiershT T AT & S0 TS
I ATAT F AT H 97 | 399 F941 FeA7 F B0 F1t 2197 959 i o=m1ad|
o & form =o Gwere =1 9T 3T | 597 TERrE ST T gl ST AT g ?

(1) STHTIOTE AT

(2) srfaea ATt

(3) araT AT & o =y
(4) Fe=prET fAeer

[Question ID = 147][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q117]

1. 1 [Option ID = 585]

2. 2 [Option ID = 586]

3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

13) T FEATIF T FAT 979 & A=At w5 wer & 7 a9y awrwe va A v
FAT T (o6 FAIT AT 927 AT AA-TTH % TATH1 § §[2 Alhe THA F7, AT
90T % |77 39 9T == F7 A7 O 9T w5 | 59 FA A T FgT ST 2

(1) [T

(2) T== FTF
(3) T TeTT FTT
(4) mrETterE e & o vy

[Question ID = 148][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q118]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]



14) Refatad 3§ 7 BF TERiedT AEad Figi 2
(1) et & fAfrs Afdem Fat &1 Gugiae o 7 Bl Taar T 39 a97
(2) foremm sfenTs & form 9% a9 9% % J9" Jeurn Premft F FEe # Aaugmen
(3) ToraaTiaat =1 T TETATAT FT IAH AT ATFAA g STIN
(4) TC AT ST=TTF TEATA T Arheaw]

[Question ID = 149][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q119]

L)

3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

15) fysforfa & & Fe-a i arr st § e 2

(1) T T Qa7 T SATHTT 2l g |

(2) T 99T § STHTT Tl gral g |

(3) T I ATHT ZTA-HTH FHT THZ ¢ |

(4) T= T 5 o 21 g i Aiehia AT |

[Question ID = 150][Question Description = CTET_P1_PART_4_L1_SET_104_HINDI_Q120]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- ENG_Q121-128_L2_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Let's face it. We are a sleep-starved nation. Except for infants and the retired elderly, few of us
ever get our eight-hour quota. By now, we ought to have been protesting this deprivation,
burning effigies of the gods of sleep, and Kumbhakarna too. The reason we haven't been
driven to such extremes is because we've all along had a love-hate relationship with the
activity, or more precisely, inactivity called sleep.

| think it all stems from a negative brand image. As opposed to wakefulness, slumber is seen
as a sign of lazy indifference to responsibility which, as everyone knows, is the first step on the
slippery slope to becoming an absolute good-for-nothing. The fact that some of the world’s
most revered personalities have pitched in to provide endorsement has not helped matters.
Shakespeare had waxed eloquent, calling sleep the “balm of hurt minds ..... and chief
nourisher in life’s feast”. For all the bard’s eloguence, what prevails is something as yucky as
“the early bird catches the worm”. Right from our school days, the child who rose up bright and
early was held up as a role model for the sleepyheads on the back bench.

Of the two evils, sleeping at night vis-a-vis dozing in the afterncon, the latter is paradoxically
seen as more inexcusable though it is much shorter. | concede that one of the things going
against afternoon nappers is the aesthetics. We certainly do not look our best when we slip into
the land of Nod while seated. Of the many poses we unconsciously adopt, the most ungainly is
the one where sometimes our mouth is agape. Seeing such a spectacle at the front office can
be bad for business.

Recently an Indian company put a stamp of approval on the afternoon nap. Employees get up
to 30 minutes to sleep every afternoon. This ‘daily dose’ has been touted as the biggest boon
the working classes have been able to wrest from the management since the invention of the
casual leave.

We should burn effigies of Kumbhakarna as

(1) he slept a lot.
(2) he was Ravana's brother.
(3) he had consumed our share of sleep.

(4) we don't get eight hours of sleep.
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2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Let's face it. We are a sleep-starved nation. Except for infants and the retired elderly, few of us
ever get our eight-hour quota. By now, we ought to have been protesting this deprivation,
burning effigies of the gods of sleep, and Kumbhakarna too. The reason we haven't been
driven to such extremes is because we've all along had a love-hate relationship with the
activity, or more precisely, inactivity called sleep.

| think it all stems from a negative brand image. As opposed to wakefulness, slumber is seen
as a sign of lazy indifference to responsibility which, as everyone knows, is the first step on the
slippery slope to becoming an absolute good-for-nothing. The fact that some of the world’s
most revered personalities have pitched in to provide endorsement has not helped matters.
Shakespeare had waxed eloquent, calling sleep the “balm of hurt minds ..... and chief
nourisher in life’s feast”. For all the bard’s eloguence, what prevails is something as yucky as
“the early bird catches the worm”. Right from our school days, the child who rose up bright and
early was held up as a role model for the sleepyheads on the back bench.

Of the two evils, sleeping at night vis-a-vis dozing in the afterncon, the latter is paradoxically
seen as more inexcusable though it is much shorter. | concede that one of the things going
against afternoon nappers is the aesthetics. We certainly do not look our best when we slip into
the land of Nod while seated. Of the many poses we unconsciously adopt, the most ungainly is
the one where sometimes our mouth is agape. Seeing such a spectacle at the front office can
be bad for business.

Recently an Indian company put a stamp of approval on the afternoon nap. Employees get up
to 30 minutes to sleep every afternoon. This ‘daily dose’ has been touted as the biggest boon
the working classes have been able to wrest from the management since the invention of the
casual leave.

Which of the following is a false statement?

(1) Shakespeare has said that sleep gives us emotional relief.
(2) ‘Early bird catches the worm’. This statement advises us to sleep less.
(3) Those who get up early in the morning go to sleep in the class.

(4) Afternoon nap is considered worse than long sleep at night.
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3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Let's face it. We are a sleep-starved nation. Except for infants and the retired elderly, few of us
ever get our eight-hour quota. By now, we ought to have been protesting this deprivation,
burning effigies of the gods of sleep, and Kumbhakarna too. The reason we haven't been
driven to such extremes is because we've all along had a love-hate relationship with the
activity, or more precisely, inactivity called sleep.

| think it all stems from a negative brand image. As opposed to wakefulness, slumber is seen
as a sign of lazy indifference to responsibility which, as everyone knows, is the first step on the
slippery slope to becoming an absolute good-for-nothing. The fact that some of the world’s
most revered personalities have pitched in to provide endorsement has not helped matters.
Shakespeare had waxed eloquent, calling sleep the “balm of hurt minds ..... and chief
nourisher in life’s feast”. For all the bard’s eloguence, what prevails is something as yucky as
“the early bird catches the worm”. Right from our school days, the child who rose up bright and
early was held up as a role model for the sleepyheads on the back bench.

Of the two evils, sleeping at night vis-a-vis dozing in the afterncon, the latter is paradoxically
seen as more inexcusable though it is much shorter. | concede that one of the things going
against afternoon nappers is the aesthetics. We certainly do not look our best when we slip into
the land of Nod while seated. Of the many poses we unconsciously adopt, the most ungainly is
the one where sometimes our mouth is agape. Seeing such a spectacle at the front office can
be bad for business.

Recently an Indian company put a stamp of approval on the afternoon nap. Employees get up
to 30 minutes to sleep every afternoon. This ‘daily dose’ has been touted as the biggest boon
the working classes have been able to wrest from the management since the invention of the
casual leave.

Which of the following statements is true?

(1) We always keep our mouths open during a short sleep.
(2) No one bothers how we look if we go to sleep in the office.
(3) One is allowed to enjoy enough sleep if one has taken an early retirement.

(4) People who enjoy sleep are thought to be lazy.
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4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Let's face it. We are a sleep-starved nation. Except for infants and the retired elderly, few of us
ever get our eight-hour quota. By now, we ought to have been protesting this deprivation,
burning effigies of the gods of sleep, and Kumbhakarna too. The reason we haven't been
driven to such extremes is because we've all along had a love-hate relationship with the
activity, or more precisely, inactivity called sleep.

| think it all stems from a negative brand image. As opposed to wakefulness, slumber is seen
as a sign of lazy indifference to responsibility which, as everyone knows, is the first step on the
slippery slope to becoming an absolute good-for-nothing. The fact that some of the world’s
most revered personalities have pitched in to provide endorsement has not helped matters.
Shakespeare had waxed eloquent, calling sleep the “balm of hurt minds ..... and chief
nourisher in life’s feast”. For all the bard’s eloguence, what prevails is something as yucky as
“the early bird catches the worm”. Right from our school days, the child who rose up bright and
early was held up as a role model for the sleepyheads on the back bench.

Of the two evils, sleeping at night vis-a-vis dozing in the afterncon, the latter is paradoxically
seen as more inexcusable though it is much shorter. | concede that one of the things going
against afternoon nappers is the aesthetics. We certainly do not look our best when we slip into
the land of Nod while seated. Of the many poses we unconsciously adopt, the most ungainly is
the one where sometimes our mouth is agape. Seeing such a spectacle at the front office can
be bad for business.

Recently an Indian company put a stamp of approval on the afternoon nap. Employees get up
to 30 minutes to sleep every afternoon. This ‘daily dose’ has been touted as the biggest boon
the working classes have been able to wrest from the management since the invention of the
casual leave.

Study the following statements:

(a) Some people believe that a short nap is good while some think it is not.
(b) Only irresponsible people sleep during the day.

(1) (2) is correct and (b) is incorrect.

(2) (b) is correct and (a) is incorrect.

(3) Both (a) and (b) are correct.

(4) Both (a) and (b) are incorrect.
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5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Let's face it. We are a sleep-starved nation. Except for infants and the retired elderly, few of us
ever get our eight-hour quota. By now, we ought to have been protesting this deprivation,
burning effigies of the gods of sleep, and Kumbhakarna too. The reason we haven't been
driven to such extremes is because we've all along had a love-hate relationship with the
activity, or more precisely, inactivity called sleep.

| think it all stems from a negative brand image. As opposed to wakefulness, slumber is seen
as a sign of lazy indifference to responsibility which, as everyone knows, is the first step on the
slippery slope to becoming an absolute good-for-nothing. The fact that some of the world’s
most revered personalities have pitched in to provide endorsement has not helped matters.
Shakespeare had waxed eloquent, calling sleep the “balm of hurt minds ..... and chief
nourisher in life’s feast”. For all the bard’s eloguence, what prevails is something as yucky as
“the early bird catches the worm”. Right from our school days, the child who rose up bright and
early was held up as a role model for the sleepyheads on the back bench.

Of the two evils, sleeping at night vis-a-vis dozing in the afterncon, the latter is paradoxically
seen as more inexcusable though it is much shorter. | concede that one of the things going
against afternoon nappers is the aesthetics. We certainly do not look our best when we slip into
the land of Nod while seated. Of the many poses we unconsciously adopt, the most ungainly is
the one where sometimes our mouth is agape. Seeing such a spectacle at the front office can
be bad for business.

Recently an Indian company put a stamp of approval on the afternoon nap. Employees get up
to 30 minutes to sleep every afternoon. This ‘daily dose’ has been touted as the biggest boon
the working classes have been able to wrest from the management since the invention of the
casual leave.

Study the following statements:
(a) All students who get up early do well in studies.

(b) A 30-minute sleep in the office may cost one a casual leave.

(c) Some people believe that sleep-loving people ultimately become good for nothing.
(1) () and (b) are correct but (c) is incorrect.

(2) (a) and (b) are incorrect but (c) is correct.

(3) (&) and (c) are correct but (b) is incorrect.

(4) (a) and (c) are incorrect but (b) is correct.
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6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Let's face it. We are a sleep-starved nation. Except for infants and the retired elderly, few of us
ever get our eight-hour quota. By now, we ought to have been protesting this deprivation,
burning effigies of the gods of sleep, and Kumbhakarna too. The reason we haven't been
driven to such extremes is because we've all along had a love-hate relationship with the
activity, or more precisely, inactivity called sleep.

| think it all stems from a negative brand image. As opposed to wakefulness, slumber is seen
as a sign of lazy indifference to responsibility which, as everyone knows, is the first step on the
slippery slope to becoming an absolute good-for-nothing. The fact that some of the world’s
most revered personalities have pitched in to provide endorsement has not helped matters.
Shakespeare had waxed eloquent, calling sleep the “balm of hurt minds ..... and chief
nourisher in life’s feast”. For all the bard’s eloguence, what prevails is something as yucky as
“the early bird catches the worm”. Right from our school days, the child who rose up bright and
early was held up as a role model for the sleepyheads on the back bench.

Of the two evils, sleeping at night vis-a-vis dozing in the afterncon, the latter is paradoxically
seen as more inexcusable though it is much shorter. | concede that one of the things going
against afternoon nappers is the aesthetics. We certainly do not look our best when we slip into
the land of Nod while seated. Of the many poses we unconsciously adopt, the most ungainly is
the one where sometimes our mouth is agape. Seeing such a spectacle at the front office can
be bad for business.

Recently an Indian company put a stamp of approval on the afternoon nap. Employees get up
to 30 minutes to sleep every afternoon. This ‘daily dose’ has been touted as the biggest boon
the working classes have been able to wrest from the management since the invention of the
casual leave.

‘... when we slip into the land of Ned'.

The above statementisa/an __ clause.
(1) Principal

(2) Noun

(3) Adjective

(4) Adverb
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7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Let's face it. We are a sleep-starved nation. Except for infants and the retired elderly, few of us
ever get our eight-hour quota. By now, we ought to have been protesting this deprivation,
burning effigies of the gods of sleep, and Kumbhakarna too. The reason we haven't been
driven to such extremes is because we've all along had a love-hate relationship with the
activity, or more precisely, inactivity called sleep.

| think it all stems from a negative brand image. As opposed to wakefulness, slumber is seen
as a sign of lazy indifference to responsibility which, as everyone knows, is the first step on the
slippery slope to becoming an absolute good-for-nothing. The fact that some of the world’s
most revered personalities have pitched in to provide endorsement has not helped matters.
Shakespeare had waxed eloquent, calling sleep the “balm of hurt minds ..... and chief
nourisher in life’s feast”. For all the bard’s eloguence, what prevails is something as yucky as
“the early bird catches the worm”. Right from our school days, the child who rose up bright and
early was held up as a role model for the sleepyheads on the back bench.

Of the two evils, sleeping at night vis-a-vis dozing in the afterncon, the latter is paradoxically
seen as more inexcusable though it is much shorter. | concede that one of the things going
against afternoon nappers is the aesthetics. We certainly do not look our best when we slip into
the land of Nod while seated. Of the many poses we unconsciously adopt, the most ungainly is
the one where sometimes our mouth is agape. Seeing such a spectacle at the front office can
be bad for business.

Recently an Indian company put a stamp of approval on the afternoon nap. Employees get up
to 30 minutes to sleep every afternoon. This ‘daily dose’ has been touted as the biggest boon
the working classes have been able to wrest from the management since the invention of the
casual leave.

‘... or more precisely, inactivity called sleep....’

The word opposite in meaning to the underlined word is
(1) actively

(2) vaguely

(3) mostly

(4) significantly
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8) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Let's face it. We are a sleep-starved nation. Except for infants and the retired elderly, few of us
ever get our eight-hour quota. By now, we ought to have been protesting this deprivation,
burning effigies of the gods of sleep, and Kumbhakarna too. The reason we haven't been
driven to such extremes is because we've all along had a love-hate relationship with the
activity, or more precisely, inactivity called sleep.

| think it all stems from a negative brand image. As opposed to wakefulness, slumber is seen
as a sign of lazy indifference to responsibility which, as everyone knows, is the first step on the
slippery slope to becoming an absolute good-for-nothing. The fact that some of the world’s
most revered personalities have pitched in to provide endorsement has not helped matters.
Shakespeare had waxed eloquent, calling sleep the “balm of hurt minds ..... and chief
nourisher in life’s feast”. For all the bard’s eloguence, what prevails is something as yucky as
“the early bird catches the worm”. Right from our school days, the child who rose up bright and
early was held up as a role model for the sleepyheads on the back bench.

Of the two evils, sleeping at night vis-a-vis dozing in the afterncon, the latter is paradoxically
seen as more inexcusable though it is much shorter. | concede that one of the things going
against afternoon nappers is the aesthetics. We certainly do not look our best when we slip into
the land of Nod while seated. Of the many poses we unconsciously adopt, the most ungainly is
the one where sometimes our mouth is agape. Seeing such a spectacle at the front office can
be bad for business.

Recently an Indian company put a stamp of approval on the afternoon nap. Employees get up
to 30 minutes to sleep every afternoon. This ‘daily dose’ has been touted as the biggest boon
the working classes have been able to wrest from the management since the invention of the
casual leave.

‘..... world's most revered personalities ...’
The underlined word means the same as
(1) strained

(2) fortunate

(3) respected

(4) specific
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1) Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.
One day this July, | noticed the housing complex had a jamun (java plum) tree. The
purple-blackish, marble-like soft bunches were hanging temptingly, beckoning one and all.
Soon the housemaids reached there quickly to gather them. They leapt in the air to grab one,
but they couldn’t, and picked a few from the ground.
| stood in the window eyeing the tree, and wondered how | could lay my hands on them. Eating
the fruit picked up from the ground was unthinkable. It was also slush-laced, thanks to the
monsoon, the season in which jamun’s turn jamin (purple).
| longed to eat a bunch of the juicy globes freshly picked from the tree. The housing society
was strict about not plucking flowers. Did the rule apply to the jamuns too?
Finally, | took permission and had the joy of eating a bowl of jamuns fresh from a tree after
many years. My mouth, tongue, lips looked purple, even the teeth. | had the fun of eating
jamuns straight from the tree, but they lacked the sweetness and plumpness of the fruit that
used to grow in my parent’s bungalow.
My mother was fond of gardening and had planted fruit trees and flowers. Unfortunately, most
of the fruit trees did not bear much fruit because a neighbour had grown eucalyptus trees that
drew all the water from the soil. The jamun and amla trees grew in the right wing of the house
and stood safe from the tyranny of the eucalyptus. Both grew tall and bore a lot of fruit.
When | started living in the bungalow, | loved to water them. | saw them spread from mid-size
trees to their full height when they began to bear fruit.
The amla had green fruit that stayed green. But the jamun was different. In summer it grew tiny
green balls that gradually enlarged but remained green only until the monsoon. At the fall of the
first rain, the fruit magically turned blackish-purple. The previous day it was green; the next day
it turned dark purple.
The transformation was incredible.

The housemaids could not enjoy jamun from the tree as

(1) they did not ask for permission.
(2) the fruit on the ground was more juicy.
(3) they were short in height, and could not reach the fruit.

(4) they did not ask for permission and also they were short in height, and could not reach the
fruit.
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2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

One day this July, | noticed the housing complex had a jamun (java plum) tree. The
purple-blackish, marble-like soft bunches were hanging temptingly, beckoning one and all.
Soon the housemaids reached there quickly to gather them. They leapt in the air to grab one,
but they couldn’t, and picked a few from the ground.

| stood in the window eyeing the tree, and wondered how | could lay my hands on them. Eating
the fruit picked up from the ground was unthinkable. It was also slush-laced, thanks to the
monsoon, the season in which jamun’s turn jamin (purple).

| longed to eat a bunch of the juicy globes freshly picked from the tree. The housing society
was strict about not plucking flowers. Did the rule apply to the jamuns too?

Finally, | took permission and had the joy of eating a bowl of jamuns fresh from a tree after
many years. My mouth, tongue, lips looked purple, even the teeth. | had the fun of eating
jamuns straight from the tree, but they lacked the sweetness and plumpness of the fruit that
used to grow in my parent’s bungalow.

My mother was fond of gardening and had planted fruit trees and flowers. Unfortunately, most
of the fruit trees did not bear much fruit because a neighbour had grown eucalyptus trees that
drew all the water from the soil. The jamun and amla trees grew in the right wing of the house
and stood safe from the tyranny of the eucalyptus. Both grew tall and bore a lot of fruit.

When | started living in the bungalow, | loved to water them. | saw them spread from mid-size
trees to their full height when they began to bear fruit.

The amla had green fruit that stayed green. But the jamun was different. In summer it grew tiny
green balls that gradually enlarged but remained green only until the monsoon. At the fall of the
first rain, the fruit magically turned blackish-purple. The previous day it was green; the next day
it turned dark purple.

The transformation was incredible.

The writer did not pick up fruit from the ground as

(1) the maidservants had picked them all.
(2) they had got crushed while falling on the ground.
(3) they had become muddy and unclean.

(4) it would have been ungentlemanly.
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3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

One day this July, | noticed the housing complex had a jamun (java plum) tree. The
purple-blackish, marble-like soft bunches were hanging temptingly, beckoning one and all.
Soon the housemaids reached there quickly to gather them. They leapt in the air to grab one,
but they couldn’t, and picked a few from the ground.

| stood in the window eyeing the tree, and wondered how | could lay my hands on them. Eating
the fruit picked up from the ground was unthinkable. It was also slush-laced, thanks to the
monsoon, the season in which jamun’s turn jamin (purple).

| longed to eat a bunch of the juicy globes freshly picked from the tree. The housing society
was strict about not plucking flowers. Did the rule apply to the jamuns too?

Finally, | took permission and had the joy of eating a bowl of jamuns fresh from a tree after
many years. My mouth, tongue, lips looked purple, even the teeth. | had the fun of eating
jamuns straight from the tree, but they lacked the sweetness and plumpness of the fruit that
used to grow in my parent’s bungalow.

My mother was fond of gardening and had planted fruit trees and flowers. Unfortunately, most
of the fruit trees did not bear much fruit because a neighbour had grown eucalyptus trees that
drew all the water from the soil. The jamun and amla trees grew in the right wing of the house
and stood safe from the tyranny of the eucalyptus. Both grew tall and bore a lot of fruit.

When | started living in the bungalow, | loved to water them. | saw them spread from mid-size
trees to their full height when they began to bear fruit.

The amla had green fruit that stayed green. But the jamun was different. In summer it grew tiny
green balls that gradually enlarged but remained green only until the monsoon. At the fall of the
first rain, the fruit magically turned blackish-purple. The previous day it was green; the next day
it turned dark purple.

The transformation was incredible.

Which of the following statements is nof true?

(1) The writer enjoyed heartily the fruit plucked from the housing complex tree.
(2) He enjoyed home-grown jamuns mare.
(3) All the trees planted by his mother did not prosper.

(4) Eucalyptus is tall, but a sort of ‘kille’r tree.
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4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

One day this July, | noticed the housing complex had a jamun (java plum) tree. The
purple-blackish, marble-like soft bunches were hanging temptingly, beckoning one and all.
Soon the housemaids reached there quickly to gather them. They leapt in the air to grab one,
but they couldn’t, and picked a few from the ground.

| stood in the window eyeing the tree, and wondered how | could lay my hands on them. Eating
the fruit picked up from the ground was unthinkable. It was also slush-laced, thanks to the
monsoon, the season in which jamun’s turn jamin (purple).

| longed to eat a bunch of the juicy globes freshly picked from the tree. The housing society
was strict about not plucking flowers. Did the rule apply to the jamuns too?

Finally, | took permission and had the joy of eating a bowl of jamuns fresh from a tree after
many years. My mouth, tongue, lips looked purple, even the teeth. | had the fun of eating
jamuns straight from the tree, but they lacked the sweetness and plumpness of the fruit that
used to grow in my parent’s bungalow.

My mother was fond of gardening and had planted fruit trees and flowers. Unfortunately, most
of the fruit trees did not bear much fruit because a neighbour had grown eucalyptus trees that
drew all the water from the soil. The jamun and amla trees grew in the right wing of the house
and stood safe from the tyranny of the eucalyptus. Both grew tall and bore a lot of fruit.

When | started living in the bungalow, | loved to water them. | saw them spread from mid-size
trees to their full height when they began to bear fruit.

The amla had green fruit that stayed green. But the jamun was different. In summer it grew tiny
green balls that gradually enlarged but remained green only until the monsoon. At the fall of the
first rain, the fruit magically turned blackish-purple. The previous day it was green; the next day
it turned dark purple.

The transformation was incredible.

Study the following statements:
(a) The jamun has a tendency to ripen overnight.
(b) Like his mother, the writer too had green fingers.

1) (a) is correct and (b) is incorrect.

(
(2) (b) is correct and (a) is incorrect.
(3) Both (2) and (b) are correct.

(

4) Both (a) and (b) are incorrect.
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5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

One day this July, | noticed the housing complex had a jamun (java plum) tree. The
purple-blackish, marble-like soft bunches were hanging temptingly, beckoning one and all.
Soon the housemaids reached there quickly to gather them. They leapt in the air to grab one,
but they couldn’t, and picked a few from the ground.

| stood in the window eyeing the tree, and wondered how | could lay my hands on them. Eating
the fruit picked up from the ground was unthinkable. It was also slush-laced, thanks to the
monsoon, the season in which jamun’s turn jamin (purple).

| longed to eat a bunch of the juicy globes freshly picked from the tree. The housing society
was strict about not plucking flowers. Did the rule apply to the jamuns too?

Finally, | took permission and had the joy of eating a bowl of jamuns fresh from a tree after
many years. My mouth, tongue, lips looked purple, even the teeth. | had the fun of eating
jamuns straight from the tree, but they lacked the sweetness and plumpness of the fruit that
used to grow in my parent’s bungalow.

My mother was fond of gardening and had planted fruit trees and flowers. Unfortunately, most
of the fruit trees did not bear much fruit because a neighbour had grown eucalyptus trees that
drew all the water from the soil. The jamun and amla trees grew in the right wing of the house
and stood safe from the tyranny of the eucalyptus. Both grew tall and bore a lot of fruit.

When | started living in the bungalow, | loved to water them. | saw them spread from mid-size
trees to their full height when they began to bear fruit.

The amla had green fruit that stayed green. But the jamun was different. In summer it grew tiny
green balls that gradually enlarged but remained green only until the monsoon. At the fall of the
first rain, the fruit magically turned blackish-purple. The previous day it was green; the next day
it turned dark purple.

The transformation was incredible.

They leapt in the air but they could not reach. The underlinedis a/an ______ clause.
(1) Principal

(2) Noun

(3) Adjective

(4) Adverb

[Question ID = 853][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q133]
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1 [Option ID = 3409]
2 [Option ID = 3410]
3 [Option ID = 3411]
4 [Option ID = 3412]



6) Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate options.
One day this July, | noticed the housing complex had a jamun (java plum) tree. The
purple-blackish, marble-like soft bunches were hanging temptingly, beckoning one and all.
Soon the housemaids reached there quickly to gather them. They leapt in the air to grab one,
but they couldn’t, and picked a few from the ground.
| stood in the window eyeing the tree, and wondered how | could lay my hands on them. Eating
the fruit picked up from the ground was unthinkable. It was also slush-laced, thanks to the
monsoon, the season in which jamun’s turn jamin (purple).
| longed to eat a bunch of the juicy globes freshly picked from the tree. The housing society
was strict about not plucking flowers. Did the rule apply to the jamuns too?
Finally, | took permission and had the joy of eating a bowl of jamuns fresh from a tree after
many years. My mouth, tongue, lips looked purple, even the teeth. | had the fun of eating
jamuns straight from the tree, but they lacked the sweetness and plumpness of the fruit that
used to grow in my parent’s bungalow.
My mother was fond of gardening and had planted fruit trees and flowers. Unfortunately, most
of the fruit trees did not bear much fruit because a neighbour had grown eucalyptus trees that
drew all the water from the soil. The jamun and amla trees grew in the right wing of the house
and stood safe from the tyranny of the eucalyptus. Both grew tall and bore a lot of fruit.
When | started living in the bungalow, | loved to water them. | saw them spread from mid-size
trees to their full height when they began to bear fruit.
The amla had green fruit that stayed green. But the jamun was different. In summer it grew tiny
green balls that gradually enlarged but remained green only until the monsoon. At the fall of the
first rain, the fruit magically turned blackish-purple. The previous day it was green; the next day
it turned dark purple.
The transformation was incredible.

‘| longed to eat.’
The underlined word is alan

(1) Noun
(2) Pronoun
(3) Verb
(4) Adjective

[Question ID = 854][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q134]
1. 1 [Option ID = 3413]
2. 2 [Option ID = 3414]
3. 3 [Option ID = 3415]
4. 4 [Option ID = 3416]



7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

One day this July, | noticed the housing complex had a jamun (java plum) tree. The
purple-blackish, marble-like soft bunches were hanging temptingly, beckoning one and all.
Soon the housemaids reached there quickly to gather them. They leapt in the air to grab one,
but they couldn’t, and picked a few from the ground.

| stood in the window eyeing the tree, and wondered how | could lay my hands on them. Eating
the fruit picked up from the ground was unthinkable. It was also slush-laced, thanks to the
monsoon, the season in which jamun’s turn jamin (purple).

| longed to eat a bunch of the juicy globes freshly picked from the tree. The housing society
was strict about not plucking flowers. Did the rule apply to the jamuns too?

Finally, | took permission and had the joy of eating a bowl of jamuns fresh from a tree after
many years. My mouth, tongue, lips looked purple, even the teeth. | had the fun of eating
jamuns straight from the tree, but they lacked the sweetness and plumpness of the fruit that
used to grow in my parent’s bungalow.

My mother was fond of gardening and had planted fruit trees and flowers. Unfortunately, most
of the fruit trees did not bear much fruit because a neighbour had grown eucalyptus trees that
drew all the water from the soil. The jamun and amla trees grew in the right wing of the house
and stood safe from the tyranny of the eucalyptus. Both grew tall and bore a lot of fruit.

When | started living in the bungalow, | loved to water them. | saw them spread from mid-size
trees to their full height when they began to bear fruit.

The amla had green fruit that stayed green. But the jamun was different. In summer it grew tiny
green balls that gradually enlarged but remained green only until the monsoon. At the fall of the
first rain, the fruit magically turned blackish-purple. The previous day it was green; the next day
it turned dark purple.

The transformation was incredible.

‘... from the tyranny of the eucalyptus.’
The underlined word means the same as
(1) oppression

(2) cruelty

(3) autonomy

(4) oppression and cruelty

[Question ID = 855][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q135]
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1 [Option ID = 3417]
2 [Option ID = 3418]
3 [Option ID = 3419]
4 [Option ID = 3420]

Topic:- ENG_Q136-150_L2_P1_CTET



1) Neelima is a physician by profession. She has bought a new book on how the COVID-19
vaccination works in the human body. She read it in order to practise it and to teach her
students. What is this reading known as?

1) Extensive reading

(

(2) Scanning
(3) Skimming
(

4) Intensive reading

[Question ID = 856][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q136]
. 1 [Option ID = 3421]
2 [Option ID = 3422]
3 [Option ID = 3423]
4 [Option ID = 3424]
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2) What is the status accorded to English in India?

1) Official language

(
(2) Associate official language
(3) Academic language

(

4) Language of higher education

[Question ID = 857][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q137]
1 [Option ID = 3425]
2 [Option ID = 3426]
3 [Option ID = 3427]
4 [Option ID = 3428]
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3) Which of the following statements is true of National Education Policy, 20207
(1) Of the three languages learnt by children ‘at least two of the three languages are native to
India’.
(2) Of the three languages learnt by children ‘one should be the classical language of India’.
(3) Of the three languages learnt by children ‘one should be a foreign language’.
(4) Of the three languages learnt by children ‘one should be native to India’.

[Question ID = 858][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q138]
1 [Option ID = 3429]
2 [Option ID = 3430]
3 [Option ID = 3431]
4 [Option ID = 3432]
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4) What is ‘Semantic cue’ in reading?

(1) The meaning of a word

(2) The prompt for the pronunciation of words

(3) The prompt for understanding the grammatical item
(

4) The prompt that supports the meaning-making process

[Question ID = 859][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q139]
1 [Option ID = 3433]
2 [Option ID = 3434]
3 [Option ID = 3435]
4 [Option ID = 3436]
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5) ‘All children begin their schooling in their mother tongue and move on to add at least two more
languages.’ This is known as

(1) Three language formula

(2) Mother tongue based multilingualism
(3) Multilingualism as a strategy

(4) Language-in-education policy

[Question ID = 860][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q140]
1. 1 [Option ID = 3437]
2. 2 [Option ID = 3438]
3. 3 [Option ID = 3439]
4. 4 [Option ID = 3440]

6) NIPUN is

(1)the Government of India’s flagship programme for achieving foundational literacy and
numeracy by 2025

(2) National programme for universalization of secondary education by the year 2028
(3) National Literacy Mission
(4) National Education Strategy

[Question ID = 861][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q141]
1. 1 [Option ID = 3441]
2. 2 [Option ID = 3442]
3. 3 [Option ID = 3443]
4. 4 [Option ID = 3444]

7) A learner undergoes various stages as he learns to write well. What is this known as?

1) Product approach to writing

(

(2) Process approach to writing
(3) Emergent writing strategies
(

4) Whole language approach

[Question ID = 862][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q142]
1 [Option ID = 3445]
2 [Option ID = 3446]
3 [Option ID = 3447]
4 [Option ID = 3448]
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8) The major aim of teaching poetry is to

1) appreciate and enjoy the delight of literary language.

(

(2) learn language and the language of poetry.

(3) learn the grammatical aspects of language used in poetry.
(

4) learn to understand what the poet thinks.

[Question ID = 863][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q143]
1 [Option ID = 3449]
2 [Option ID = 3450]
3 [Option ID = 3451]
4 [Option ID = 3452]
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9) Moving from meaning to farm in grammar teaching-learning is

(1) Procedural knowledge
(2) Declarative knowledge
(3) Process approach
(4) Product approach

[Question ID = 864][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q144]

1. 1 [Option ID = 3453]

2. 2 [Option ID = 3454]

3. 3 [Option ID = 3455]

4. 4 [Option ID = 3456]

10) A teacher collects the errors of learners once in a while and discusses them in the class

without mentioning who has committed such errors. What does she do?

(1) She provides feedback on learners’ use of language.
(2) She finds faults with learners.

(3) She teaches language through discussions.

(4) She is doing remedial teaching.

[Question ID = 865][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q145]
1. 1 [Option ID = 3457]
2. 2 [Option ID = 3458]
3. 3 [Option ID = 3459]
4. 4 [Option ID = 3460]

11) A teacher of class 8 asks her learners to go around the city or the village and collect
information about the village monuments and important places so as to design a poster about
the village for visitors. What is this activity known as?

(1) Project task
(2) Project work
(3) Assignment
(4) Group work

[Question ID = 866][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q146]
1. 1 [Option ID = 3461]
2. 2 [Option ID = 3462]
3. 3 [Option ID = 3463]
4. 4 [Option ID = 3464]

12) The study of language is known as

(1) Language pedagogy

(2) Linguistics

(3) Grammar of the language

(4) Language-in-Learning context

[Question ID = 867][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q147]
1. 1 [Option ID = 3465]
2. 2 [Option ID = 3466]
3. 3 [Option ID = 3467]
4. 4 [Option ID = 3468]



13) Learning outcomes aim at promoting

(1) Skill-based language learning
(2) Competency-based language learning
(3) Mastery in learning of content

(4) Thorough understanding of grammatical knowledge of language

[Question ID = 868][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q148]
1 [Option ID = 3469]
2 [Option ID = 3470]
3 [Option ID = 3471]
4 [Option ID = 3472]
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14) Rahim, a student of class 6 applies his previous knowledge to understand the meaning of the
text he reads. Which model of reading does he adopt?
(1) Top-down model
(2) Bottom-up model
(3) Process model
(4) Product model
[Question ID = 869][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q149]
1 [Option ID = 3473]
2 [Option ID = 3474]

3 [Option ID = 3475]
4 [Option ID = 3476]
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15) What is an authentic text?

(1) A text written for other purposes but used for teaching-learning of language.

(2) A text deliberately written by textbook writers and used for teaching-learning of language.
(3) A text for teaching-learning of languages.

(4) A text created artificially for the teacher for teaching-learning of languages.

[Question ID = 870][Question Description = CTET_P1_PART_5_L2_SET_104_ENGLISH_Q150]
1 [Option ID = 3477]
2 [Option ID = 3478]
3 [Option ID = 3479]
4 [Option ID = 3480]
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